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INSTRUCTIONS

Do not open the Question Booklet before 1:30 p.m.

Read the question carefully before marking the right answer in the appropriate circle of the OMR Answer-Sheet.

No candidate will be allowed to appear in the examination without Admit Card and it should be produced before

the Invigilator when asked.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any book, paper, cell phone, calculator or any electronic gadget or objectionable materials are not allowed in the

Examination Hall. Candidates are allowed to bring only Admit Card and ball-point pen in the Examination Hall.

Candidate will have to keep all his/her belongings and materials outside the Examination Hall at his/her

own risk.

Any candidate found using unfair means or violating the above or any of the examination rules shall be

disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question Booklet.

Only one circle, either (A), (B), (C) or (D) is to be darkened completely for each answer on the OMR Answer-Sheet.

Candidate should not make any stray marks on the OMR Answer-Sheet.

Candidate should not staple, fold, pin, wrinkle or damage the OMR Answer-Sheet.

Scratching, overwriting, tick marking, multiple answering will be considered as wrong answer.

Candidates will have to sign twice, once in the Attendance sheet/Roll sheet presented by the Invigilator on duty

after taking their seats in the Examination Hall, and other in the form provided to them at the time of handing

over their Question Booklet and OMR Answer-Sheet to the Invigilator after completion of Examination. Cases
where a candidate has not signed and not submitted the OMR Answer-Sheet and the Question Booklet after the
examination is over, he/she shall be treated as absent.

4+ The candidate has to return the Question Booklet along with the OMR Answer-Sheet to the Invigilator before
leaving the Examination Hall.

4+ Candidate should do all the necessary Rough Work on the Question Booklet in the space provided. Rough Work
should not be done on the Answer-Sheet or on any other paper. If any Rough Work is done on the Answer-Sheet,
the Answer-Sheet will not be assessed.

4+ There will be one single OMR Answer-Sheet for all the questions. No extra Answer-Sheet will be provided
for any mistake or correction.

+ The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should fill up the
particulars in the OMR Answer-Sheet, i.e., Roll No., Question Booklet No., Question Booklet Code, Language
Code, etc., carefully with blue/black ball-point pen only.

4+ The test is of 2% hours duration and will consist of 150 questions.

+ The candidate should make sure that the corresponding Question Booklet Code is properly written/
shaded in the OMR Answer-Sheet by him/her. For example, if the candidate gets Question Booklet Code
‘A’, then he/she should fill up ‘A’ in the box provided in the OMR Answer-Sheet and also shade the circle
‘A’ in the OMR Answer-Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

4+ This Question Booklet has five Parts, i.e., Parts I, II, III, IV and V consisting of 150 Multiple-choice Type
questions, all carrying 1 mark each.
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Part-I : Child Development and Pedagogy (Q. Nos. 1-30)
Part-II : Mathematics & Science (Q. Nos. 31-90)
Part-III : Social Science (Studies) (Q. Nos. 31-90)
(Candidate has to attempt Part—II Or Part—III)

Part-IV : Language-II [English (Compulsory)] (Q. Nos. 91-120)
Part-V : Language-I (Optional) (Q. Nos. 121-150)

[ Any one (optional) of the languages—Assamese, Bengali, Bodo, Hindi, Hmar, Karbi and Alternative English |

4+ There is no negative marking for any wrong answer.

4+ Candidate should note that each question in Parts I, II and III is given in multilingual form, viz., in Assamese/
Bengali/Bodo/English medium/version for his/her convenience and ready reference. In case of any discrepancy
or confusion in the medium/version, the English version will be treated as the authentic version.

+ Important : Candidate please see Page No. 5 for Index.
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PART—I : Child Development and Pedagogy

1. FEFIRS @G “2-2maFm R A AARE FrF TTRE OIS AT Hoe T 2

(A) T & . (UGC) (B) «=. 5. 3. -14. 6. (NCERT)

(€) f. =3, 3. f5. (DIET) (D) ¢b. fb. 2. =1R. 5. (SCERT)
1. G Tfafe @I 212 %] 212N FEF =R 0o TP Give 77 2

(A) 2T. f&. B (UGC) (B) «=. P1. 2. oK. . (NCERT)

(€) f. =3, 3. f5. (DIET) (D) @, P1. 3. =4, 5. (SCERT)

1. TMEMEH 8 d3-HHAHT TS AIATTE e TS aesn T
(A) IRy urew A (UGC)
(B) TRIATR AIGATTR 94 3T ®IA™ g9 (NCERT)
(C) e A I ®IY™ w6 (DIET)
(D) TTETEMETN AN ToE A BRIU™ TYH (SCERT)

1. Which of the following guiding agencies is not directly involved with primary
education system?

(A) UGC (B) NCERT
(C) DIET (D) SCERT

2. 33 o, Freme S M e TIffe ICReea <1410 (PR 2

(A) PrmIe SCeTfeEre (B) TRt Seemifresrey
(C) I Teaifresa (D) =Tcafae N
2. s Too, P @3 fRigees e Teelffe e s @ Wi wifafte @it 2=
(A) e et (B) TR weTifresre
(C) Pl Seemfiee (D) Ffere TCAIReE
2. TEFR grTEamafdsar, BRAT™ TR FAHEs Aeat THT TSR ST S
(A) BRAM MEfERrEeE (B) @rett Treferfirem
(C) wreiiemzai MefafiEm (D) STERHT MEfEEE

2. According to Skinner, the branch of psychology dealing with teaching and learning
is known as

(A) teaching psychology (B) learning psychology
(C) educational psychology (D) applied psychology

UPT-2023/P-11/12-D 6



3. ‘e TP AR SRR A TS T S SRS SURE D] A FARE KRR
TeiRsEee e @ s TEfiEe it 2

(A) ~R= oMafs (B) “reffe (2'ow ) &ie
(C) R “&fe (D) SR Mo
3. ‘YR TGS AN THIE AR Gl e T GRS SHRe el qcaes’” et ey
Tl frmiore SRR Tafolr (Fmba SEHEe i 2
(A) “RcTH TS (B) SISRS e
(C) AT “&fe (D) SIS “mfo
3. “‘mromafy MEfatEER AenE e e T S AR SieiedEE TR
TIAATZS MEISRRF TERE S a6 e ST’
(A) TSR ATes (B) HHISGA™ 3TEd
(C) ITHSIEIR 3TTed (D) @ |TET AT 3TEs

3. “In order to know about psychological process of others, it is necessary to study
one’s own mind and feeling” is the underlying principle of which of the following
methods of educational psychology?

(A) Observation method (B) Sociometric method

(C) Experimental method (D) Introspection method

4. fagfrfe @ Ofe orug 2
(A) REFIES @S (2R TRPICTF SF TRIL |
(B) (P2~ T WIPTE FMICH % FIR9 TE A1 [P ooy qive 727 |

(C) PG FRe DeFaed Afre e sMafocd 2P SA6ICR T[S SCHos S
T S |

(D) “HTH &S (2R GF (TRIF (FI¥l, GroCP RICTHIT FeARFPIRI MO Fiq 71 8

fréq 47 M1
4. ey Tfafie @ [gfel orwm 2

(A) RIS @S SCFFFO AT G2 TIIL |

(B) BT SRR ((F1-351T) |17 FROTR AF 2 IR AT (el AP ooy wivo
A 1 |

(C) =rmifed FRd Bfee Fam iR BRer “&fs aam) SR e S[ves Sbaels
SR A |

(D) *RIGTH “M&f© G ([ (FHE G2 “RIETHER FAF AMI2 FA @ACO “IF G T3
I EFCO NI |
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4. TEEM Fo fogism e mE?
(A) TSR ATGEHT TH SITe AT 3T S8 T |
(B) TE-gg A@iEEEHE (Case study)M ST seaamen Sieam@l o) AHMAT fo@ma it gemee

B A o |

(C) SRS MRS STEFE! THRAREE FREMN @R foe 73 amed amgsi arme
ITES ARGE ! i |

(D) TSRATENR eremsn @g faffemi smiem o AeiERRf fhagd 9 Sem BREE
WA T TR Bl g/ |

4. Which of the following statements is incorrect?

(A) Experimental methods are relatively time-consuming and costly.

(B) The interpretation of case study is always correct as there is no interpreter’s
bias involved.

(C) In the process of identifying cause of maladjustment, clinical method also
studies unconscious behaviour along with overt behaviour.

(D) Observation method is a scientific technique and results of observation may be
verified and relied upon.

5. Tere-fopii el w1 e Terx () el TR 94Te M2 F (IS W AN WA FROES

IOl TAMIE ¥ 2
(A) SIW@ (B) (<sy
(C) CTTgGi2H (D) @3«

5. JIAART (CITeT SR@RaNG) [ #7241 FfoRrEel @R @Terl (Welea) ©fs I&m [ ARy
A O SANITE NOCEE (T TAMICTR GF(0 S 2
() W=z (B) T
(C) TSR (CTIEi20) (D) =urs

5. TgAAT A, ST SAFE AR M T s1fe ATaeEarE awarn, fo=n o fsaft
EERCINUIEE
(A) Tom (B) uE fex
(C) a=TEe (D) T

5. The medulla oblongata, which controls breathing and helps to maintain upright
(standing) postures is a part of which component of our nervous system?

(A) Brain (B) Spinal cord
(C) Dendrites (D) Axon

UPT-2023/P-11/12-D 8



6. 'S TCo FRRIRSTEY (SR (202 TMPT#H ARIGaReN qF SHiesd ?
(A) Rempigerer 91 Ife

(B) AMIMEFIFIel, T90G, 7o« e BT ARGl
(C) =W, WS, 2Md AAree
(D) <, & S SFGTE ST

6. WPICETR WORPICA e Sferfe (wieib STeIieaTs aicrecar Tz 2
(A) femergerer @ Ife
(B) AMITEFIPl, T5g, CABICS A=ETOR LTS T]
(C) aferife, s, emTe daraarrel
(D) <, S& GI% SFICTA SRS

6. AR 7Y, MR s&an | e 7 fafefer?
(A) TWHIE-3ATRIE T T THEHER I
(B) THISIATENTE, TRMTY HHET TREAT, Seisil ATSIasIHT 1 T
(C) HH-HwM, ATy AR TGRSR T
(D) TR, g TR RIS T

6. As per Maslow, which of the following would be an example of esteem needs?

(A) Freedom from danger
(B) Needs for socialization, friendship, group acceptance
(C) Needs for prestige, fame, appreciation

(D) Needs for food, water and oxygen

O\ N N

7. FRRROTET @G TUT @RI (1854)7 € CaM T 7= 2
(A) 547 20r[ 2fSxace GBI e et s o[ |
(B) Toa (qRelv@R ((Ngee’q TWTe) gl Afmee ife’s sprfe ome SiRwe o qwn

e |
(C) SRS & SR MEFE TIARCA 2294 (Faq© (FFEE 9 4l ©H9 0O TUq  (TRI71@q
T NfReT |

(D) IferFel, 0T B AWS (ADTH v2acPedTe ReRWeR ZI7e ~[ SSR[eE! C2fee |

7. ey Tfefe @i Seew (aeerg (1854) @ b Cf¥igy o 2
(A) ~of eicresm afefbee @b ea Frsl el aiocas Forif |
(B) TCed (TeFICE (GRRCTR c) ‘@i AR WS 1 per o MY’ Ao fawe
(79l A G 2SI A |
(C) SICS PRFR TR 210G (2, (TRCER G2 TSR 0% SCeh (W15 @Te (oIRel ¢ |
(D) AR *1=F FFrwrel, @0 ¢ Tuce Rafmen B P 56
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7. TEAM Fs=— Wood’s Despatch (1854)f 3Trgemg F=1?
(A) HHEBHET BTEETE ieerg faws arisAmf See e |

(B) Downward Filtration Theory (ST@ W&lcls 9Gm  EEREEF)E Wood’s
Despatch311 THERE A SafEe |

(C) Fhlif Ty & e 9uRm WRASTE |ietieng fosi SME—s M Wood's
DespatchWﬂTﬁWl‘@'lﬁ?I

(D) HETShIAT, SFsl TR HIETHRTE Ihacranet sigaq! srEH el |

7. Which of the following is not a feature of Wood’s Despatch (1854)?

(A) Recommended for creation of a department of education in each of the five
provinces.

(B) Wood’s Despatch disagreed and rejected (Macaulay’s support to) ‘downward
filtration theory’.

(C) Wood’s Despatch disagreed with Macaulay’s view on English as a medium of
instruction in India.

(D) Recommended for setting up of universities in the Presidency towns of
Calcutta, Bombay and Madras.

8. (Tfere v @ SRR, B Frysieers F-sahie S oo o PFEres 21ReelRe
(A) TeAlfre ARAR 41 (21 SRS 2[00 #AR[eTY 90 2]
(B) Z@-RI@R ~[{1 75j2r® qper #{1 “IReey 391 273
(C) WISAME SETe FEFME (29CF 3 BFgeN 23
(D) T CNPTSR TR F9

8. (Mfers Mrwr TS <o, Wt oo FRETE T3 @R RrEFdem (@on
(A) TLATWS “Cali AT TR SR (AT 2V Bl 207
(B) R@C 2me F1 ARSI wedl 2@
(C) Trerelfgs Prr aer «ft we@
(D) TR TS BRI 9T 4 204

8. A WY HY TS WA T BR@! TEAI-TTE AR THEEAE 3T BRITNGRA soat
(&) fegaem BHAE AR SEREE A S
(B) %R BT WGAHE ErTH
(C) Tt faeme didiatg g SeeT e o
(D) TR BTfsern SAHEet g
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8. According to its principles, basic education would make children self-sufficient and
the teacher’s salary

(A) would be paid from income generated through produced goods
(B) would be paid from fees paid by the students
(C) is immaterial in imparting education under socialism

(D) is to be generated by the local Municipality Boards

9. 1994-95 TH© PS &1l 2 Frel Wivl e ée F19 e fEfie @ e swve

39 2 f"E 2
(A) TRee (B) @20
(C) FIR e (D) cfere?3
9. 1994-95 e TP (Tl AINfE PEFl FRGT 2% IR TR WIS (ershr w1
A Y e 12
(A) wfeie (B) @==2I5
(C) = =zen (D) cAferey

9. 1994-95 YA Sieall ME el fe Aietians gemh (District Primary Education
Programme )@ SRS, sl MEEH ae e d@'aq SEmeadE?
(A) wifaTa (B) Sier@
(C) =hIfsl AT (D) @A

9. Which of the following districts was not included when District Primary Education
Programme was launched in Assam during 1994-95?

(A) Morigaon (B) Jorhat
(C) Karbi Anglong (D) Sonitpur

10. 1952-53 1 YAIleRI WAl FREARS Rl PN 2o Caee 2
(A) PFFR NRCY TOSFE J209
(B) JfeTere HrF aaés
(C) T FrFE AR AR =12 2rEfeae
(D) e PEFIR 2fafom
10. 1952-53 & YA SR o (b 929 e ?
(A) T TN ReTE TOSRR 592H
(B) Jfewere Hrsli ads
(C) 2N PEFR S #f1o7ar e 2lrosael
(D) T PEFIR 2[afom
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10.

10.

1952-53 AR JaTCRR SRS MEEH Se ! TSamE ¢
(A) Tomf Tt dierteng fosi fame srermm

(B) SIS Gietiag TS

(C) Tfe Aictioms umd FArHi FHE T

(D) TSR TeTiUTEE STfham

Mudaliar Commission of 1952-53 took up which of the following?
(A) Use of mother tongue as medium of instruction

(B) Introduction of vocational education

(C) Curriculum design for primary education

(D) Reorganization of secondary education

11.

11.

11.

11.

WmmmﬁﬁmmwﬁWWﬁWme,m
frsseRRIE

(A) TP 2R o Frefbs (zad 41 Tve

(B) G2 bW Swfs firan Tfve

(C) circee fefate ar FcaEl Tfvs

(D) freemize F41 Tve

M (Pl Pre O AN 7© fa @Y G- Gib e Fre 0o TR (@1 T 00 FEeer
e

(A) TGP ARG 5 ~A1ICl

(B) Cf2 *f=rwd SRafe (Tel

(C) TR Zr® Wea (FIUICe 1% FAI

(D) fereamiize w1

T T AR AT SRSt ol TSl A SeThR@rs! Hiaql Wisll HiArsal, BRI
(A) TSR SHSTE ORI

(B) T MY SmAfe @remRETET

(C) 3AmTen S foregl A

(D) ToT/amaT g

If a child writes with his/her left hand and is comfortable doing things with it, the
teacher should

(A) send to seek psychological help
(B) allow that preference

(C) make to write with right hand
(D) discourage
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12.

12.

12.

12.

fReFel OF SfeeeR SIS (@[ My 2@m o FHere ARese Frefbe &b e
FE O/ 2

(A) (B) 3=

(C) < “Afae (D) WFIPRe ~fés

el g2 SfCerel S G FRET T (@ PR 9% Zolfemiel “fée 9 o 29

(A) R (B) I

(C) T “fFad (D) P “Ifée

MG 3 (SEgE 9@E §FE TSE R BIREE SieEEET 9
oy T B TS |

(A) STEEE (B) @A™

(C) ST AT (D) e S

Orderly and progressive changes in a child due to maturation and experience
lead to

(A) development (B) growth
(C) physical changes (D) mental changes

13.

13.

13.

PEFETRCE (a-7aS ©7 ¢ PR oM WAPTR TR S o1Cal oI

(A) =I@-ZAF JfE CARTS SPTHL(S] THCH (DS 2 B Al

(B) 9% T SUAPTR BA-T[aPTRRCe BN Sifel (IR SRS Tce T(Fe I3 el
(C) =IG-RIAPRRCA ol FACART PICS 2 Tg SLPTR T=IfFe FR =11l

(D) =@-RIAPTRCE J(eCe Sfelvz] 2] B FRCH KA 2P Pl =l

e The FEFRITE (R O ISR G3R SR A1 TRI7F Fa1 93R
(A) FPRITICR @RIF SFERel 770 2P 91

(B) FrwR 2feacay wice @ fEfprafem 1o o o2 3@ 41

(C) PrFEE el RRisfer e Ton w0y I@ 1

(D) PFEFRICE SI0@ @RI Sfelbr] 770 2 1

BRIMNERT FRETERAT ERIGRE! a1-81 20 g Tersi S SR

(A) FSAI TTET AT TERS FUFETRRATE |

(B) & MM WG BREETERT o ffbramm styrerst geHm

(C) o TMEM TRE! HEmR e fHfod snymes g

(D) I TR BEETRATE
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13. Teachers should present information to the students clearly and in an interesting
way, and
(A) question the students about their inability to understand
(B) relate this new information to the things students already know
(C) relate this new information to the things students do not know
(D) question the students about their unwillingness to understand

14. freg TFPR REME 200 9eomes Ty W3 e e
(A) PEFF REFMI (SSTETRR G I 2291 02 AT
(B) SR T 29 I (SECHACE 2T Sl A
(C) 92re @I ¢ TfS-FREPHES wF6 T 2hT] (SECEF Were I IS ACF
(D) (SEEIT FIROIE WeT SIS PN Z0aersl I 70T
14, PretR IR [JEM @2 ok 741 8he @
(A) ORI APTRN PFEFRerE Rl 22 e
(B) SRl AR I Gl 3¢ =0T FCA
(C) IwR 77l FFe e 3R TR 2SI IR 2[R9 ACF
(D) ORI fcemiE S@eas THIerel J/Ce e

14. T BRE MEETR SR STREmRfE ST ST
(A) T sREst SRITTRERE BRIAERE! et
(B) Tera =mtt fiemmn festeme Tt
(C) Tor ST TR ™ TR S SHeRE! Aafa=r Jrr
(D) ey et iRt meiferdt givem @

14. The mental development of children should be so guided that

(A) they are always accepting the teachings of teachers

(B) they look up in books for any knowledge required

(C) they always have a tendency to reject accepted knowledge and norms
(D) they may understand the utility of knowledge themselves

15. AR e S qifeTe SePe @[ 9 Sferemmie, TH-r K GEe Gl 2

(A) TP Rl (B) SRR
(C) NUTAE THFTS] SR (D) 7@l Pl
15. @ PrF I7% N ARG A1 TN, WA @R awes ffifse e i3
A 2 SICF ¢
(A) Prefmem (Femencsa) P (B) SIS Frwl
(C) TR HFTe] SR (D) 7@ A
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15.

15.

N diciiong stean ARSTTE, WiesSnAd AR @l @ o ' g st e,
forat =t

(A) ToF e Aieiam (B) @f-Iei@n T3 |ieiiang
(C) FENTRT TRARIT ET&THIN (D) STH-TISTH FeAieg

An education system which is adaptive, flexible and takes place outside the set
boundaries of classroom is termed as

(A) kindergarten education (B) non-formal education

(C) adult literacy programme (D) distance education

16.

16.

16.

16.

SRR PR (Fqe FREROTET (@Rl 935 w7 [ 7=8 2

(A) SR sl Ao ifRcae TeTelcd 2w Fia A |

(B) STeifere e #ifeor e e |

(C) IRl Ml SeRifers PEFIT 777 |

(D) xSRI Rl SFge 27 w2al Toers =2 (il SR Rrpm s frm =3 |

e Cfafre @R SRR FEem o 10 78 2

(A) SR FrFl elaieeers #Ifae TSI 2wl 1 27 |

(B) SR RFFE caisl e [ge |

(C) IRl Frsl Rrs Sl 2R “fews |

(D) T4 AP Rl SRS AN Seeerh 20 O SelepIfe FERE e S 2w

e e @Tf-Iera T3 draidmgsii dlea =17

(A) w3 SeltoeE! el werE SRR SEgEE e |

(B) w@nf-oretan 19 detiazH @ Sed Jar |

(C) Eifrer@t 13 drciengen W@ Ticiemsd! 311§ Tl |

(D)éggﬁ@@ﬁmmwmé@ﬁwmwﬁa@@ﬁﬁ@ﬁmw
|

Which of the following is not true for non-formal education?

(A) Non-formal education is best delivered in a classroom environment.
(B) Scope of non-formal education is very vast.
(C) Non-formal education complements formal system of education.

(D) When formal education is either unsuitable or unavailable, non-formal
education is recommended.
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17. NRnfs frer @ Fafafie @ e o w=m 2

(A) =phes Tl (s S T2em o[ Sbeites Sioeepng AR Fre IREe HE
TMRRF 27 |

(B) R[4 M52 Fryvers FiFve q7ea 2/l S o q[ee S1sa2 @RS T2/ I |
(C) MR Frmie FryvReers “RIEFR SREcs AFRT 7/ RY$ea ws@it IR 2%e ¢ |

(D) “f~fE Fre (fes B AN “IRET Glce “Iie e witace fFreg see
SIS 2iPigfoimer Al |

17. ey Tfarfe @@t AR Feem s ooy w1 2
(A) IR~ PEF 2Fhon R (0 28 (A Sibe Seee] HRa(2 A2l I |
(B) R~ MEw Rrycrs [MME q@e (e Siive Qe e 9ieie @ee ARy I |
(C) NPT PEFl MryTm “RIGERCIR NI I (ACF SRS Wed @il @0e 289 3¢ |

(D) “NfFenfie Fre RS 9R ANET AAREeR A To [ioweEm TR @ Freg [
SIS 2Pl 2f® Fe |

17. TEEN S ATEEET Aiefiams ™ < o9 TST7

(A) TR STomeRE SR S TRAHSE MEEd  TSRd! §YaEE  STEeE
HIeATATgAT 2SSl B |

(B) STTSETET Fieiiemgatt T bR Bri amfafiwe - 73 awfafom e 2wem 2o
(C) TETETET TcAeTgeT T BRE! HeifHwE Ml 8 gaa gieH FheTe ar |

(D) SAEEET AIAiATET GgRIR AR TSR STERE  (IeE-gFara et a7 ar
gUTSTR AAFEIRE! (Social relevance) ®BRIST |

17. Which of the following is not true for environmental education?

(A) Environmental education assists in gathering experiences from simple to
complex by watching the activities of nature.

(B) Environmental education helps children to proceed from definite ideas to
indefinite ideas.

(C) Environmental education prepares the children to proceed from concrete to
abstract by observing.

(D) Environmental education embeds social relevance in a child through
interaction with physical and social environment.
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18. W @I MFrFE e wfdFeg ks My «F 39 AfE (3 LRI = FE, (903
PrEFeRIFIc fF 341 Tfow 2
(A) Frsfocn simer=e s A P (o[ 1 e, Ry Fress o Ruea o6 7/ 92
S A |
(B) Prefbe =nsicar @eme Sa (@eT SRR R Gl FiR e |

(C) @ o 2 T4 S PFrwapee Srzae i el o1 Mrefbe s 1 o @ 6 1
IR (DEe ©le T (TSI AT |
(D) SR¥Er2e 741 AHReF A Praf5e gm<s 7 west o Kol FPre-Srgs S IR S |

18. IY (I P o7 eae (@ St v @b Py Aees g9 Al T o3
FrRcRa 1 91 The 2
(A) Prefba sixzrzgd (@R ee 2@ @y FEre @3z Ruer sice i T ere 6 |
(B) Prefb “[ca o $¢3 9o SR ¢ 5 11 31 |
(C) ST FERR AR ST T FCACR O SHIRATRRYl (TR GR Prefbce s w1 @
(B3I FACE (18 SICel Fol FACO 7N |
(D) Prsfbe O SiRxjarzee SR e SIECeT Sl SRR Tl G38 qI-NCE KR e |

18. Jft ®Riffen @ =Tl gdie TNk @iy ToE oarEl WU Wi SEE gan, e o
HT GTATHATT ?
(A) TG ST WA ST TR WA BRI TR SREieel 3 79 e Serd 3 g
(B) 3Td TUT ST AT STell EITHR 97|
(C) UTEieTd oA W 3R SHEEr S ghm na'E ggm @ e S et
EISIRicT RECIRPE IS ic]
(D) T AT AR ATHIA T 3R for-faer Raremaan |

18. When a teacher notices an economically deprived child in the class who is not seen
to be very active, what should the teacher do?

(A) Insist that the child has to participate, since the teacher and the school have
high expectations of him.

(B) Do nothing, with a presumption that the child will join later.

(C) Show examples of other learners who are doing well and assure the child that
he can also do well if he makes an effort.

(D) Scold the child for his non-participatory behaviour, and report the matter to
the parents.

19. “A[REIS FIG-IO AT TRACS FHRRS  @FWEG SRR TR JERe . FRE

=i 2
(A) 70 A AT (B) fer<mer e 2=t
(C) =R AF T (D) =[5 ST ¥qel
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19.

19.

19.

e TS (@ o Tl Gl eIIeTe Flore - R TG JenEe 51 A 9 2

(A) 78l @R P Il (B) o1 @R (¥

(C) M=t @R T el (D) “Tel @R C*MTeTl

TR o6 TG daTferd! RIS HeH-WTal STSEst g1 g’

(A) B AR TIATT (B) for™ 1Rt W™
(C) THTEHM R T (D) AR AR GIAEA

Which of the following language skills cannot be assessed through a traditional
pen-paper test?

(A) Reading and speaking (B) Writing and listening

(C) Listening and speaking (D) Reading and listening

20.

20.

20.

20.

S AR (PI Row 2, 4= A T $o_© (5or] (FRPS 91 S (5] JeATwca]
9 R [ @Ml =2

(A) STaISy 2mefe (B) RaTiere o

(C) STTTZl (D) SCACAIA] 2wl

eI @b FiE &P, €=e T <@g Tom IR (eI (FEPe T [l (PO HKZS
FAE FECE A0 2

(A) STeney 2mfe (B) Rmers

(C) SF=Zel (D) G 2wl

TR Y 918 91 GHRAH T e 29H JHEHT SH™ el ST |3 g217?
(A) ety RfEmm (B) TEATN |IE@ =

(C) TET BT g (D) &Y B

What is the act of focusing our consciousness or concentrating consciousness on a
particular thing, idea or object of the environment called?

(A) Displaying loyalty (B) Subjective selection
(C) Absent mindedness (D) Paying attention

21.

93 [JeTTe 49 P —G-RAR foge 20% 2a-RId AeeRs [RFIER T | 1 39
qF “f2 oa W 9 W, (B 2 TA-TAPed Hige 41 S (Fme e a3 @&
PRI 2

(A4) 66 fea (B) 90 fea

() 170 fea (D) 72 &
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21.

21.

21.

g3 e @b FEREE wen 20% FrERiE I[-N Teae whe | A s’ g foa
(=172 B15) =il 27 o=@ Tolcad FrwiRior fofes w1 ot @ew T O (@1 93 2

(A) 66 feat (B) 90 fe&a

(C) 170 fea (D) 72 fead

TH I TEE BEEERA TS 20% M fom-fawr ane @m w@r g ™ S
HIami RE STilsell FEEThRE! S Torfy @ietier s S ?

() 66 faft (B) 90 feht

(C) 170 feft (D) 72 faft

Out of a total number of students in a school, 20% of the students have both the

parents working. If a pie chart is drawn, what will be the degrees at the centre that
depict the above students?

(A) 66 degrees (B) 90 degrees
(C) 170 degrees (D) 72 degrees

22.

22.

22.

22.

Epi2 R aiferare seres B “iew 5 Fies 273

(A) 6T ofeT (B) S5 o1

(C) SABIeIR I (D) SHR°[ TareFael

et @ eifer sty e oifb 291

(A) SIBRCER 90w (B) DR ool

(C) SR AT (D) SIHaCR Taresae
TICATATZST /T HIET-ETE HSTe B ?

(A) ITEA TRg HHSHETE (B) A TG S SHARE
(C) 3TEd 3IRg |ieTs e (D) TEA 3G ST SR
Education helps in the process of

(A) generation of behaviour (B) initiation of behaviour
(C) modification of behaviour (D) upgradation of behaviour

23.

23.

5999 ARG TGO Geo ¢F TR[qe Afew [ AN o7

(A) IFECNDT T8 G (B) IFECMDT Gae 2[ISF 7=

(C) &b SR 7= = (D) JFECINTT G o 2R

SIGACR IR 20— G+ G 1L ivea 2T @b

(A) TR AN G LT A (B) W SRGTH 2ARGS S2¥ GCT AT

(C) SCI G AT B¥ LT AT (D) A G (17~ gew AT
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23. AT 3G AT BIET3T AHE Tfetam 9= semg | fo=
(A) THfGEH SAmEE 3 Sesme arfersm g
(B) Mt fef fem smermeme wifermn
(C) mHfaf fesf At sremmema @ife=n
(D) "=t i ergre wmme wifesn

23. The process of modification of behaviour is a continuous one that covers the
(A) whole life of man (B) early part of life of man

(C) later part of life of man (D) youth stage of life of man

24, ‘90707 (T TR, SePNHRER B SE SePNeReR 203 59F[ 177 (P (FiRe 2

(A) Q@GR = (B) === e
(C) TIforry TERael (D) &'« fear2
24, “‘9/TTF T& SO, TAICOR Al AR SO Sl R 17 S 919 2
(A) @GR F=Rm (B) =2y ferse
(C) TIferm sarwHSTe (D) e foT3

24. g§ U R ‘ggweri gute, geeRsl GuEE GUTs AW gemR om@r qe gur
B JETHA?

(A) ST Heahfer (B) TsTe™ fotam
() Taferam sSuad (D) ST et
24. Who said, “Democracy is a government of the people, by the people and for the
people”?
(A) Benjamin Franklin (B) Abraham Lincoln
(C) William Wordsworth (D) John Dewey

25. Efefie @G @A 12 Rres T vere TRl SE Tl TS O A2 FCE 2

(A) E=fE (B) Sl *fe
(C) =12R- (el (D) =iFEel
25. fafefe cafEishr o @Hb gt Frece Sp-isem weel G9R (F7]°) SIsic TRRTS] FC 2
(A) e (B) e e
(C) =12R-(@HTel (D) =iFEel
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25.

25.

TERMH 96 Y SGART GRAThAl Fifciemn darfd SR @i weH g Ml e
TS BAT?

(A) FEETARN (B) HIA®HM

(C) 3T T (D) TroHT™

Which of the following characteristics helps an infant to acquire motor skill and
efficiency?

(A) Imagination (B) Imitation

(C) Egocentrism (D) Playfulness

26.

26.

26.

26.

e Gle (FICE! “RfEe Jf Mt Wifeq [em o2 vetm Regpicamerer [Rer 22w g ¢ 21 2

(A) PreFE (B) CFHAIT

(C) (AT ="l (D) <=

TCT QIR (IR 7R yeeeite] =hes P g3 7air Sgarey 22w el A1 2

(A) CPePIeT (B) ST

(C) el (D) (Tl

Hfa e a9 amEieTa SR el T g B! dr A SR ga e
(A) T THE (B) Gfean vHE

(C) SHHM T (D) <TEHIA FHE

The development of creative power and gang loyalty are first seen at which stage of
man?

(A) Childhood (B) Infancy
(C) Adolescence (D) Youth

27.

27.

To Gl (EICH BT (PN S Rwed 3¢ Fface FIesl 27

(A) GRFE @ P 2RE (B) 2R *SIRS FRFE[ R

(C) P BE[ “[Iged @3 R (D) “Re el @3 R’

T. S (& qICI A R If Feac

(A) GRCTR @0 P 2RE 27 (B) O Ffas SR @36 7R 2o
(C) TR [ TrmICca GFis 7R f2oTea (D) “f7FeR @b “RE o1
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27. Tlo IR THH ARHM HH HHl< gai ot

(A) & AERHE e a9 MisiH, St dor g T e

(B) & TGl EETR @I Ha= o

(C) & gfean wumE oniftham o

(D) & IS SINTHE /TG oI
27. Dr. Ernest Jones has described the adolescent stage of man as

(A) a smooth stage of life

(B) a stage of intense physical activity

(C) a recapitulation of the stage of infancy

(D) a stage of maturity
28. FRfERS @Ry =FPize TBye 7=w ?

(A) @IS M (B) TR OREI

(C) T 3= (D) “TGFT 8 T2~ S TP
28. ffrie REgafer qa @b =T RFHe TBve o1 2

(A) TES =W (B) SR “ffEhs

(C) == T~ (D) T G3R FR-“ NG PRI
28. TERMH T HIFET HTHETE ETEHRIRY ?

(A) HOR §7 98 (B) SNETETH STare

(C) g9 9vg (D) HRAEIR AR TS WEET THT BRI
28. Which of the following factors is not included in school?

(A) Physical resources

(B) Climatic conditions

(C) Human resources

(D) Curriculum and co-curricular activities
29. ‘917 TR TH CEANCTIPTRS 516 o777 el BT Tl 7

(A) fe=iFt el (B) =S S{CS

(C) CIOR Al (D) CBIRT syrcans]
29. “‘JEI Sl A =W K AIFes T —Iwa FEce

(A) fosafa Fhmw (B) SIS B

(C) IR (D) COIGRT P
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29.

29.

St TR @ o amEl @erEEl GESeEl & Sy 9 gAHe
(A) foard e (B) T HHtEH
(C) AT A (D) =g FwHiEH

“Destiny of the nation is being shaped in her classrooms”—has been remarked by
(A) Tiwari Commission (B) Rawat Commission

(C) Kothari Commission (D) Chaudhury Commission

30.

30.

30.

30.

el 2gfe T+ v Tfech! e 541 |

(A) TIPS @EE FEACS T 270 ¢ |

(B) 2 s Sfowepiyze qEFoel 2 |

(C) 3 2RfEore T a3 SRR Pl IRZE Teepad 3 |
(D) 2 FrFE ~0 o Teme AFhe |

frpiare ei3fe solffe srm f[gfelb fofers e |
(A) @b (&S S Tes Wl 2w e |

(B) «ft frwere sifswrer Cifeser e =imeT |

(C) 9fb SerRIT Frel <2 2feere wasihe SR e |
(D) «fb B 9 3R TACF AFHS FCH |

Tt fRiefiat gamws dees 8™ TEEH a6 7 STy TR =17
(A) foar et s detiorsat 2|

(B) Torar wieriamgenik Taertomdt oiia T @rerm |

(C) TortiarfimTiy SRSt fopn stomEtf-r 13 dictieng ATesE! hel et |

(D) fore @iciionsi @y AR @ TREE] |

Identify the incorrect statement in regards to the educational technology.
(A) It imparts instruction through technological knowledge.

(B) It brings objectivity in the educational experiences.

(C) It expands non-formal education system with technological advancement.

(D) It constricts the scope and quality of education.
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PART-II : Mathematics and Science
( Candidates have to attempt Part-II or Part-III )

[ Candidates have to attempt Part-II or Part-III which they have given in their
Application Form and recorded in the OMR Answer-Sheet |

31. M x @B AW TR =W, (ST x2 — 2x + 3 MR PToT 77 T (20T

1 3
A 3 (B) 1 © 3 (D) 2

31. M x @3> AW =AM =W, ORCEA x2 — 2x + 3 AMMHH oo YR T 23

1 3
A 3 (B) 1 © 3 (D) 2

31. JfE x o1 HFE T s, el x2 - 2x + 3T safgz gEfm A s

1 3
A 3 (B) 1 © 3 (D) 2

31. If x is a real number, then the minimum possible value of the expression
x2-2x+3 is

1 3
(A) 5 (B) 1 (C) 5 (D) 2
J3x 327 +32(3
. W Tl %54
32 3J3+22/3+5V3
(4) 0 (B) 1 (©) V3 (D) 2
\Exg/277+32\5
32 3\@+22\@+5\EL{NW o
(A) 0 (B) 1 (C) V3 (D) ~2

SPACE FOR ROUGH WORK
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@x?@ﬁ%zﬁﬁ

32. f ?
3J3+22%3+53 o
(4) 0 (B) 1 (C) V3 (D) V2
. J3x327+32%/3
32. Find the value of .
ind the value o 3\/§+22\/§+5\@
(A) O (B) 1 (C) V3 (D) V2
33. M 20 &= WS 451 P I 3 Weye 79 1, (OB 15 & WSRO 2 B P F~7of
fRqes e e =< 279 2
(A) 2 fa (B) 3 il
(C) 4 fua (D) 5 fua
33. IW 20 &« afE 3 fic 46 ofea Fre T~ 3@, O 15 &K 7 Gzl 26 F% =om

33.

FACO PO A ?

A) 2 fua (B) 3 fua

(C) 4 fua (D) 5 fua

Sfe o9 4 TE @EIHE @ 20 AFEEET 99 39 wiEEl, O 79 2 e wiseE |9 15
TR T A7

(A) ¥+ 2 (B) @ 3
(C) §H 4 (D) €= 5
33. If 20 persons complete 4 identical works in 3 days, then how many days will be
required to complete 2 such works by 15 persons?
(A) 2 days (B) 3 days
(C) 4 days (D) S days
34. 4cm x 6 cm WERT IRFOPE T GPAl GO o FI TR o} g8 9B A

CFETH 2]
(A) 2m cm? (B) 3m cm?

(C) 4n cm? (D) 9m cm?

SPACE FOR ROUGH WORK
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34. ¥FYY 4cm x 6 cm INSCHFAFE FG (AF «F> J€ (@0 9 A Coa T4l

CBpEPel 209
(A) 2m cm? (B) 3n cm?
(C) 4n cm? (D) 9n cm?

34. T8 4 cm x 6 cm ST AIATN TRAR foetg@t g v 98 1ol scAtgfafe stge Jaat g ?
(A) 2n cm? B) 3n cm?
(C) 4n cm? (D) 9n cm?

34. The maximum area of the circle that can be cut out from a rectangular sheet of
paper of size 4 cm X 6 cm is

(A) 2m cm? (B) 3m cm?

(C) 4n cm? (D) 9n cm?

35. 120° @{ @Taee «f[kqfde T (202

4n 3n
(A) - (B) —-
2n 3n
© = (D) =

35. 120° @ @ «IFaf$s F4ce “inew a9

4n 3n
W B
2n 3n
©) = D) 5

35. 120° @' MrE! eaHme dieEgsan ERil

4n 3n
21 3n
(&) 3 (D) vy

SPACE FOR ROUGH WORK
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35. The angle 120° when converted to radian will be
4m 3n
A) — B) —
® 7 ®
21 3n
C) — D) =&
© 7 o)
36. 10101 (7© MRAOR ™S “Ma[oo 2FH T (22
(A) 9 B) 17 (C) 19 (D) 21
36. (70 7 10101 PINF & ere AFM F¢T =0
(A) 9 (B) 17 (C) 19 (D) 21
36. FRMRIE 3FSHET 1010 16T g9y for)
(A) 9 (B) 17 (C) 19 (D) 21
36. The decimal expression of the binary number 10101 is
(A) 9 B) 17 (C) 19 (D) 21
37. ™IS *&@e® 121 MRAMOR TRA @I 7R 30T
(A) LXXI (B) CXXI (C) DXXI (D) MXXI
37. WIS 7R 121 & (&N MRAPPHF 24
(A) LXXI (B) CXXI (C) DXXI (D) MXXI
37. =fies AT 1219 THE aHiest ol
(A) LXXI (B) CXXI (C) DXXI (D) MXXI
37. The Roman numeral for the decimal number 121 is
(A) LXXI (B) CXXI (C) DXXI (D) MXXI
38. (M7 WIS TR 1-24 F SRS “IAfG® FfCaT M T 27
123 124 129 132
(A) 99 (B) 99 (®) 99 (D) 99

SPACE FOR ROUGH WORK
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38. (T3l TINT M4 124 (F @R “IR[E® FaceT I3
123 124 129 132
A) —5 B) —o () D) —5
99 99 99 99
38. SEYRITS FEcihaT qHE FARAR 1-24 W TaE@-al Held for |
123 124 129 132
A) —5 B) -5 ©) -5 D) —5
99 99 99 99
38. The recurring decimal 1-24 when converted to fraction would be
123 124 129 132
A) —5 B) -5 € -5 D) —5
99 99 99 99
d
39. i a® = c W, Corg |- T AT
a
(A) a (B) b* € 1 (D) O
d
39. M a® = c W, W@ |- 4T T =TI
a
(A) a* (B) b* (C) 1 (D) O
d
b _ c ?
39. 9t a” = ¢, IrcT hd RIR:IESIICK
(A) a (B) b* € 1 (D) O
d
39. If ¥ = ¢, then % is equal to
a
(A) a° (B) b* (€)1 (D) O
40. 31 RABR «FF FITO AT HHD 2]

(A) 3 (B) 1 €) 9 (D) 7

SPACE FOR ROUGH WORK
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40.

40.

40.

3 senifog ws Zicg w=lb 2o
A) 3 (B) 1 (C) 9 (D) 7

3L e ST o AR =/ Se
(A) 3 (B) 1 (C) 9 (D) 7

The digit at the unit place of the number 3M s
(A) 3 (B) 1 € 9 (D) 7

41.

41.

41.

41.

(53+43+33+23+1%) - 5+ 4+3+2+1)F T (2
(A) 225 (B) 120 (C) 195 (D) 210

(53+43+33+23413) - 5+ 4+3+2+1) 4 I 2
(A) 225 (B) 120 (C) 195 (D) 210
53+43+33+23+13) -5+ 4+3+2+ 1) T AT
(A) 225 (B) 120 (C) 195 (D) 210

The value of 53+43+33+23+1%)-(5+4+3+2+1) is
(A) 225 (B) 120 (C) 195 (D) 210

42.

42.

M @I &9 ARSI BT e ACa 2P 91 2, (908 JeW[E IR S FIe1q [ TG
R #(fsee 2 #1|, ofRd! 273

@ - L B -, * ©)

) ; (D)
4" 2 2" 2

K

N[+~
N

11
4’ 4
T @fo Joeq AR St P 27, e Jeed AP G- (FIwE FCH A ALATECH

11 11 11 11
- = B) —, — C) =, = D) =, —
4 2 B 25 © D) 3%

(8) 4 4

SPACE FOR ROUGH WORK
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42. Jfe AFY sEAH GRATCREHTE! ey TR =, 316 o 9 @Ta TR SeTs 9@t B sea

T ?
11 11 11 11

A) =, = B) -, — C) =, — D) -, —
()42 ()22 ()44 ()24

42. If the circumference of a circle is reduced by half, the radius and the area of the
circle would respectively be reduced by

11 11 1 1 1 1

A) =, = B) -, — C) =, — D) -, —
()42 ()22 ()44 ()24

43. 951 I91=T B FfoRE el AW TR LS WE =W, T W 9 O o Ffq el
TS 7]
(A) V2 :1 (B) 3 :1 C) 2:1 (D) V5 :1

43. M @I TFOW Fued F TFEW AL M 2, S J2ET T AH OO FCH TS 2
(A) V2 :1 (B) 3 :1 C) 2:1 (D) v/5:1

43. §f¢ T TEEH GHH @ TERERT TEEE TS 9HE, el Midd @ ARl T 1Y
ERIRCIERTRIERI|
(A) V2 :1 (B) 3 :1 C) 2:1 (D) v/5:1

43. If the shorter diagonal of a rhombus is equal to the side of the rhombus, then the
ratio of the longer diagonal to the shorter diagonal is
(A) V2 :1 (B) 3 :1 C) 2:1 (D) v/5:1

44. &% faged 2 fSFUR[ K 5 cm, 12 cm 9 13 cm | {q@eicbR THo qr2d TLE FE0R

44,

T 27
(A) 45° (B) 60° (C) 90° (D) 120°

N

¢ fqecem feafs A2 7 5 cm, 12 cm ¥R 13 cm | 93 T¥ew A=d [R7@© @6 2@
(A) 45° (B) 60°
(C) 90° (D) 120°

SPACE FOR ROUGH WORK
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44, A8 AEFEIEE EEEE @™ 5cm, 12 cm MW 13 cm @HF SR AT

ArET-afy Ieutferty @' @
(A) 45° (B) 60°
(C) 90° (D) 120°

44. The three sides of a triangle is given as 5 cm, 12 cm and 13 cm. Then the angle
opposite to the largest side is

(A) 45° (B) 60°
(C) 90° (D) 120°

45. ?Iﬁbc+ca+ab=p3ﬂ§3a2+b2+c2=q?i§[, (9@ a+b+cI 2]

(&) Jg-2p (B) Vp+2q
(© Jr-2q (D) v2p+q
45. 3% be+ca+ab = p @R a® +b? +c? = q W, O@ a+ b+ c 99 T+ &
(&) Ja-2p (B) Vp+2q
(© Jr-2q (D) \2p+q
45. Jf be+ ca+ab = p IR a® + b2 +¢? = q, I=AT a+ b+c A
(A) Ja-2p (B) Vp+2q
(© Vr-2q (D) y2p+q
45. If bc+ ca+ab = p and a’?+b%+c? = g, then a+ b+ c is equal to
(&) Ja-2p (B) vp+2q
(© Jr-2q (D) v2p+q

46. <1 (FICOET T3-JSFE AT AFfed @bl PeFfeq (GIre »1 grea Face w91 2oica 392
9 (2R | (BAICOR O CFawel S THel 9O $HA CFAFE OF SHOR (T 4T |
TSICOICA CBICHT #M1elicq o Ffacel R a9 =feE, G/l (22

(A) 2 (B) 3 (€) 4 (D) 6

SPACE FOR ROUGH WORK
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46.

46.

46.

GFH F7l1 TF-JSIFE *FCE T91 AT I92E I (I GISFe (FoIe &1 FABEe 3 =
2R O (ATl G372 Tl WAlfGH A | F© W9l e freet HOIG Ao 7o 7eF 2

(A) 2 (B) 3 (C) 4 (D) 6

T WEAT IR SEATN SEg@E! B SRS STeRA T g AEsiend & EaeE Se| 9
9 SEATR e TR TSN e g arfiie fog dsamsiy ot SitemeEn wW W, Stsel
F MG AT T S TSI & el T

(A) 2 (B) 3 (C) 4 (D) 6

A hollow, right-circular cone is used as a mug to transfer water to a cylindrical can
whose base area and the height are same as those of the mug. The number of times
the mug takes to completely fill the can with water is

(A) 2 B) 3 (€) 4 (D) 6

47.

47.

47.

47.

AW a—b @6 FNF R, b—c ATIF AF c—a P TR 2, (97 WHIem
(IO 97 2

(A) a>b>c B) ¢c>b>a

(C) b>c>a D) c>a>b

I a-b GIFH FYF WA, b-c MRNEF R c—a IO @GP MR 2, 2 (67
I AT 2

(A) a>b>c B) c>b>a

(C) b>c>a (D) ¢c>a>b

Sf a— b 3 THY ISTEATE T IERNHE, b— ¢ AT THE AE T IARH AW c— a 3T ISEE
T AT, Tl TR ST qR?

(A) a>b>c B) c>b>a

(C) b>c>a (D) ¢c>a>b

If a— b is a positive number, b — ¢ is negative and c— a is a positive number, then
which of the following is correct?

(A) a>b>c B) c>b>a
(C) b>c>a (D) e>a>b

SPACE FOR ROUGH WORK
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48.

48.

48.

48.

T 3% 5:00 I&Te [R5 S!S 951 FHOET E1 (@O [T (aez
(A) 120° (B) 125°
(C) 150° (D) 160°

o

5:00 woaR WG F6! 9 GG FHIF TCH (@9 =
(A) 120° (B) 125°
(C) 150° (D) 160°

5:00 famema =<if fafte s sm v o1 sranff e g ser—
(A) 120° (B) 125°
(C) 150° (D) 160°

The angle between the minute-hand and the hour-hand when the clock strikes
S o’clock is

(A) 120° (B) 125°
(C) 150° (D) 160°

49,

49,

YO J&9 AP GCwCd Sik3] 41 (202 A0S PiES o2 @3 el fqges ofi =i Tl
CHTe T | T fapech™ Sfegas APTACe (o WP F41 JSCI CFaze

(A) I TR CFIFeR o @RFER T

(B) I€ R CHFaFe o ISR G2 AT
(C) T [OR CHFaFer I P Sl

(D) IS TBH CFawerd I oI 2 %]

76 geq APTY QIS S T @ O GFio Al fapce o @< Twel (e e |
S fagres Sifogres S AP Jed CFawe]

(A) 76 Jred CFawceE AN I
(B) 7o Jren CFawrceR A fagd
(C) 7fb Jren CFawceE AWiE weds
(D) 7o Jreq CFaFCER AR 2 @

SPACE FOR ROUGH WORK
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49. HA SEAH W EEHRE WaER IHE W6 S TER T8 @ SArEneme g S s
ST | @ STty o STt @@ T A S gaeATg iR
(A) & T SRR gssfat STsmea
(B) S@H WA gsamsfafy germaf JwE
(C) @ HHAH Iscreiaf Sremermaty e
(D) sfEF TR gsemefafy a2 ®m

49. The radii of two circles are drawn such that they form the base and the height of a
right-angled triangle. The area of the circle with the radius equal to the hypotenuse
of the right-angled triangle is

(A) equal to the sum of the areas of the two circles
(B) twice the sum of the areas of the two circles
(C) half the sum of the areas of the two circles

(D) J2 times the sum of the areas of the two circles

50. 300 T & IF 12 IF 18 TSEE Koy FHwE FRANG! (202
(A) 280 (B) 284 (C) 288 (D) 296

50. 300 9 (AT (TG J2S MM, T 12 R 18 Tey war [erem, ¢ift 2

(A) 280 (B) 284 (C) 288 (D) 296
50. 3001 TEEf A sFfsm srE 12 A0 18 S O 2l
(A) 280 (B) 284 (C) 288 (D) 296

50. The largest number less than 300 and is divisible by 12 and 18 both, is
(A) 280 (B) 284 (C) 288 (D) 296

51. ©27 &4 2:67, 1-35, 1-1, 195, 248, 445, 10, 316, 2:93, 52, 1-1, 3:04, 1-2,
3-87, 1-3 3 TYNIF T+ (2R
(A) 3-16 (B) 2-67 (C) 3-04 (D) 2-48

SPACE FOR ROUGH WORK
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51.

© @9 267, 1-35, 11, 1-95, 2-48, 4-45, 1-0, 3-16, 2:93, 52, 1-1, 3-04, 1-2, 3-87,

1-3 G NI T T
(A) 316 (B) 2:67 (C) 3-04 (D) 248

51. TEMETE BT WIes o fagd

2-67, 1-35, 1-1, 195, 2-48, 445, 1-0, 3-16, 293, 52, 1'1, 3:04, 1-2, 3:87, 1-3

(A) 316 (B) 267 (C) 304 (D) 2-48
51. The median of the data series 2:67, 1-35, 11, 1-95, 2:48, 445, 1-0, 3-16, 2:93, 52,

1-1, 3-:04, 1-2, 387, 1-3 is

(A) 3-16 (B) 2-67 (C) 3-:04 (D) 2:48
52. (x+ y)*7 RREEeTe T=oPTRa o @awe (20”

(A) 4 B) 8 (C) 12 (D) 16
52. (x+y)t @3 TR AR @6 =

(A) 4 B) 8 (C) 12 (D) 16
52. (x+ y)* PIA TETE ATHITERA STSTSITRET

(A) 4 (B) 8 (C) 12 (D) 16
52. The sum of the coefficients in the expansion of (x+ y)4 is

(A) 4 (B) 8 (C) 12 (D) 16
53. @bl TN IZeA 2fSCH! SBCFIT AF 120° | IZTECH! 9B

(A) g (B) TwgH

() 7gze (D) = 7%
53. @3> 3 ITeCeA AfSH SemAId (F 120° | ITGEH> 281 G

(A) ~egs (B) Foge
(C) g (D) “iEe®

SPACE FOR ROUGH WORK
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53. T UfeFHM AHFHEE! 38 @ =@ 120° | o 9fer @
(A) TS @A T §sellg (Pentagon) (B) WM @A THI gscttg (Hexagon)
(C) HHfE @A AT gseltg (Heptagon) (D) 3Te @ 1 THT g5 (Octagon)
53. Each interior angle of a regular polygon is 120°. The polygon is a/an
(A) pentagon (B) hexagon
(C) heptagon (D) octagon
54. Q41 O Jo0 Y5 TERE Jo0 AW S 3 41 SO Jo0 14 TP (Ai{%6e1q Yo S0 | G911

54.

54.

54.

2A12F TS QY O, G5 T WIE GO (olf0s T B (@A 4 g© W | A (9
TG GG (9 (AlfE @ AT RO, (908 (98 o et @ aface e 2'9 2

(A) 10 (B) 8

(C) 6 (D) 5

1% g v 116 Forcam o 3k 3 g v 141 cifeTcem wicas 9 | 43S S1=ede IR
@EEE 1% g, 16 o™ o) 16 ¢ifwEl @@ To 398 wY q@ee | I O wyA e
I P (7, orRee Tefera bl el fhece Al ceifeiceT R4l 2

(A) 10 (B) 8

(C) 6 (D) S

TR ST SO T8 &I % W T 3 SS9 T 14 I 99 | |8 ST < o1,
W T 1AW AR T 1@ S T 5| g o uf et @ s forien e, steen o
TMEATe I TSI e Ufie ST gnme ?

(A) 10 (B) 8

(C) 6 (D) 5

The price of a knife is twice the price of a pen and the cost of 3 knives equals the
cost of 14 pencils. A customer possesses an amount just sufficient to buy one knife,
one pen and a pencil. If he decides to buy only pencils, then the number of pencils
he will be able to buy with his available money is

(A) 10 (B) 8
(C) 6 (D) 5

SPACE FOR ROUGH WORK
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55. 10° flbm »M 49 SR ~@1 GRS bR W9 WA 2% 7ud U 2T T THoN 7u9 |
(SRIICGR Twel (207
(A) 20 m (B) 10 m
(C) 8 m (D) Sm

55. 10° foibR 4=l FoR IFb I SCeTd UK @ @ @7 (7 O 20%A Gl @R 2% oK Twer
AR | SeeR SIELT Thel 29
(A) 20 m (B) 10 m
(C) 8 m (D) Sm

55. T8 10° fofer @ Mt AT & SRRt araergen faft sreums Awm ot swemgen fafy Shemsf Swm)
o g Rl Shurean sw?
(A) 20 m (B) 10 m
(C) 8 m (D) 5 m

55. A water tank of capacity 10° litres is such that its length is double of its breadth
and the breadth is double of its height. The height of the tank is
(A) 20 m (B) 10 m
(C) 8 m (D) 5 m

56. q& [MG@ (€T Jo0 ORA 20% AR G O @S [ Feq | o [ferca AR=es

56.

30% & TTpeae Fe S S|P ARe 352l cere [icae 9 1 ISR o SR
TR o) T2l ey Rifercal e 2

(A) 6% (B) 9% (C) 14% (D) 16%

9Fee e OF ({6 WA 20% CHE e [iacme o 1w f[fenes 30% Ry
Ty qR AR AR TR0 R T eE @b Wew Fo Ko TR ermeE /i
=2

(A) 6% (B) 9% (C) 14% (D) 16%

SPACE FOR ROUGH WORK
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56. U™ HHGAT TaEH T @M 20%@ TR FAE T | & Tsie =gea w1 e 30%
AW AT TGl 3 SawE @ o smf 9w S gEr o sfefa seme
TGN ?

(A) 6% B) 9% (C) 14% (D) 16%

56. A person invests 20% of his total income in share market. Out of his investment,
30% goes to Mutual Fund and the rest amount in Equity Share. What percentage of
his total income is invested in Equity Share?

(A) 6% B) 9% (C) 14% (D) 16%

57. 2x2+3x -9 =0 faqre FRNFIIHR (Bl ToR NRFS SF [T JAGCH

3 9 3 9
A) = = (B) -=, -=
22 20 2
9 3 9 3
€ -5, -3 (D) =, =
2 2 22
57. faxre qFa 22 +3x —9 = 0 &7 Y6 0o NIF R BT IATFCH
3 9 3 9
A 55 B -, -
22 20 2
9 3 9 3
€ -5 -3 (D) =, =
2 2 22
57. & HAAR 2x2 + 3x -9 = 0T T < ST AR THSTRTET FI

3 9
(B) A A
2" 2

9 3 9 3
€) -5 -3 (D) =, =
2 2 2’ 2

(A)

N W
N[O

>

SPACE FOR ROUGH WORK
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57. The sum and the product of the two roots of the quadratic equation 2x2+3x-9=0

are respectively

39 3 9
A) -, o B) -5, - =
()22 (B) 5

9 3

© -2 -3 (D)

N[O
N w

1 4 1
58. 2%, 51, 32 YW THFAS TCHHT |
a) 23<32<s!’ B) 5'<32'<2%

() 5!'<2%8'<3? D) 32 <235

1 4 1
58. 2%, 51, 32 SRYIGENE G G0 AT |
a) 23<32<s!’ B) 5'<32'<2%

() 5!'<28'<3? D) 32 <235

58. 23, 51" 32" s wiRw@ S wiEE weE
a) 23<32<s!’ B) 51'<3%' <2

() 5'<2%<32 D) 32 <235

58. Arrange the numbers 231, 514, 321 in ascending order.
a) 23<32<sl’ B) 51'<32' <23

() 5'<2%<32 D) 32 <23 <5

SPACE FOR ROUGH WORK
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59.

59.

59.

59.

50 FRYF (I ANIT TEE n MRAF G0 AR RiGena 7@ | 3w A=Ecesm [iE sa=
TFO A 25% 2, (98 nd A« 29

(A) 25 (B) 40 (C) 35 (D) 45

505 <& Faen nfo s Rapmeens /™ | <=6 e « Tefere snces *rod i 25% 23,
& -G T 2

(A) 25 (B) 40 (C) 35 (D) 45

T 50 SHEH SR SHAl T n SEREM BEAE SOES GHH | S SHEhRE BEAM - TR

AR 25% S, el rifH M=

(A) 25 (B) 40 (C) 35 (D) 45

The cost price of 50 articles is same as the selling price of n articles. If the
percentage of profit earned after selling the articles is 25%, then the value of nis

(A) 25 (B) 40 (C) 35 (D) 45

60.

60.

60.

60.

SfeID1 T S IR @I9IFe] 93 (IR 91731 | BN G RG89 T (22
(A) 58 (B) 62 (C) 66 (D) 70

TN foaf [esme 74| @orFe 93 | J4e! JR2oe @ 2@
(A) 58 (B) 62 (C) 66 (D) 70

GBI Hi9 3 oS T ST SSIEmasT 93 | i SHfSETH Afthan
(A) 58 (B) 62 (C) 66 (D) 70

The sum of three consecutive odd numbers is found to be 93. Twice the middle
number is

(A) 58 (B) 62 (C) 66 (D) 70
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61.

61.

61.

61.

F2 [AwrepTrs 91N fAcemfag a2

(A) fEs et (B) wCF

(C) i Tfew (D) ] 5%
CTCHCEPT PRI o RS <77 2

(A) AT GFE g3 (B) $TI

(C) dborar Tfen (D) R
T IR A1 MErEE g deiH fafrm g

(A) Saft foam (B) J@™
(C) TrsR aEw (D) ure for

Nepenthes khasiana is the scientific name for
(A) night flowering jasmine (B) maize

(C) pitcher plant (D) pine tree

62.

62.

62.

62.

RICOR STere Pryvee [ebe P9 SREI2Nd = (1300] (202

(A) febifier A (B) =R’
(C) (D) CFAMDAN
PRy T fHeb ol TR SeIeq 20 7N GIfb 29

(A) febifie A (B) I
(C) T2 (D) HRIPTN
T AT AT @Er fehed sH STEi?

(A) T A (B) g
(C) TR (D) AT
The condition of rickets in children may be caused by the deficiency of
(A) vitamin A (B) iodine
(C) iron (D) calcium
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63.

63.

63.

63.

Q¥ SFEE VAR FHE TG 12 cm | AT ©T% TP (20
(A) 6 cm (B) 12 cm
(C) 18 cm (D) 24 cm

G3f6 Twe IR @I 7 12 cm | SR Il e 391

(A) 6 cm (B) 12 cm
(C) 18 cm (D) 24 cm
T @A AR 6 € STEAEAT 12 cm | & AT @@ 9/ @ren
(A) 6 cm (B) 12 cm
(C) 18 cm (D) 24 cm

The focal length of a concave mirror is 12 cm. The radius of curvature of the mirror
is

(A) 6 cm (B) 12 cm
(C) 18 cm (D) 24 cm
64. oI 019 @R T S
(A) TR STl (B) @rzq s w2 el
(C) R @I “Ife=el (D) ARESET 2y
64. IRMTZ (SHFICIRNGR) 2o @3> 7@ [~/ e
(A) ICICR Yl (B) IreICwR alfe @3z s
(C) TSI 17 AeeleTe] (D) TRHSCTS 23T
64. TW fieRS 9rEt gAr?
(A) SR faeEfy (B) =RfT @xfy = fam
(C) SRTE gATZ TR S (D) 9R ¥ A e
64. Anemometer is an instrument which measures
(A) humidity of air (B) speed and direction of wind
(C) heat conduction in air (D) pollution in atmosphere
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65. ITHE N[ ¢Fge 1 FIeaiEhe 431 (NSRBI 727 (302

(A) 256 (B) 512

(C) 1000 (D) 1024
65. FITHIAT (O (Feq 1 FIIR1RCE AR (ROIRIRCET R4 297

(A) 256 (B) 512

(C) 1000 (D) 1024
65. T fomframE, 79 1 firmemsed s@er wmemEe 37

(A) 256 (B) 512

(C) 1000 (D) 1024

65. In the case of computer memory, the number of Megabytes contained in 1 Gigabyte
is
(A) 256 (B) 512
(C) 1000 (D) 1024

66. *[FF[{ (729 U bRy (20"

(A) BT afbe (B) Fah «fow

(C) v «fbe (D) F=F RS ¢fbe
66. 7o [ @ o (Sibie) “neq I/ Gifb 2

A) g=TE (SneThe =mhe) (B) wf¥F =mire

(C) T2fe< =ibre (D) TP whTe
66. WHEMH SgE Wl TS A7

(A) e ufée (B) ®ifih TfEe

(C) wefesh uftre (D) wHHRE T
66. The acid found in the body of ants is

(A) acetic acid (B) formic acid

(C) citric acid (D) phosphoric acid
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67.

67.

67.

67.

ST A9 e iy g w1 =22

(A) CoC=flm (B) CTcafer
(C) =rPfes (= (D) c=fere
TCoe (D SETTes (XCF o2l el 27 2

(A) cem (B) =meiaifer
(C) arpfe T (D) swIcIfere
T FeEl STAHBI B TG ?

(A) dgfer (B) ATl

(C) Tufermnfk T\ (D) Tg'ferm
Which one of the following is extracted from coal tar?
(A) Vaseline (B) Naphthalene
(C) Natural gas (D) Gasoline

68.

68.

68.

W@ A T @ferl e @ 3 e [qie 2

(A) @ o o519 Tez 9herE | (B) W@l G I (19 q2cA |
(C) @l T2 o T G | (D) @l o< fog19 Tecaz Iecl |

YT @ TOIMEE (3eq oo (I [Kefb 77 2

(A) T ¢ ToFHRI T2 G | (B) W@ GICFAT ¢ Fegrr Izl |
(C) WY IR ¢ TR GFCPAN | (D) WY ¢ ToFPR T2 q2cl |

ATfE A fIwRE aFH et a« fogform om?
(A) <nfe 3 foewT fafaemt

(B) <nfean Fafaemit s ferewn sifsraigat
(C) i sfsraReanty s foewr fafRagmtt
(D) <mfe 3Ty fereweT snfewie
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68. Which one of the following is a true statement in case of sperms and ova?

(A) Both the sperms and ova are unicellular.
(B) Sperms are unicellular and ova are multicellular.
(C) Sperms are multicellular and ova are unicellular.

(D) Both the sperms and ova are multicellular.

69. 7fRTT (T Wfes FFAPTRS & A0 S AW 2
(A) ¢ o5 (B) ¢ CoToNIZH
(C) B’ celb (D) GFe3s
69. TIT TS Foe WA Row [aeaesce 6w #IfFbe 2
(A) OO0 (B) SHIIeTIoITED
(C) (GG (2B (D) FFE
69. Igu for@f MesA™ aTerTE! /1 317
(A) F&T HA-M-FFL (B) &aT HIA-9-FL
(C) aNiem wiz (D) e
69. The fractured pieces of the earth’s crust are known as
(A) stalactite (B) stalagmite
(C) tectonic plate (D) fractals
70. @B Tee e S 1 Afefkgedr 277
(A) IR I 27 (B) SPIR W< 2
(C) I SF S0l (D) SPIR HIF ST
70. 936 Tee SR G¥ 931 o Tof e A
(A) IR @R 2Tl (B) PR @R 41Tl
(C) IR @R T¢hI (D) SPIR «3] STl
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70.

70.

(A) IR AR IR (B) YURATS TR AR

(C) R IR I (D) UTAfS AW 3o

A convex mirror produces an image that is

(A) real and erect (B) virtual and erect
(C) real and inverted (D) virtual and inverted

71.

71.

71.

71.

ToRComF I 219 GBI FHORPIRS A ~[91 BT 5 AR F 2

(A) 12 (B) 10
C) 8 (D) 6

«3f5 FRCPF A AIE FHOABRCS A F© TRUF 2R AT 7M1 ?

(A) 12 (B) 10

(C) 8 (D) 6

A e T e TEET s i WRiE drEThRE e S8l oideahrd! oMl grRr?
A) 12 (B) 10

(C) 8 (D) 6

What is the maximum number of electrons that can be accommodated in the orbits
of a neutral carbon atom?

(A) 12 (B) 10
C) 8 (D) 6

72.

@I 9P AGATCS [Eel S SEEe (Grapled AR 2NL6F 5 orpe | 7S P9 [ %
JgTe 9 (@I (9 SPTE Thel (20

(A) 0'5 km (B) 12 km
(C) 16 km (D) 2:0 km
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72. q@RYS GR O SEEF TGR T T AL 5 OTPe IS 5T | IgTS B T (0T
2RI 5P (AP SR THS] 2¢q
(A) O0-5 km (B) 12 km
(C) 16 km (D) 2:0 km
72. W WA AR GREAEN GRARET 5 < | gETHER § HYa™ gHE TR GRHeHT
ST Sitemgen SEeEt S ?
(A) 05 km (B) 1-2 km
(C) 16 km (D) 2:0 km
72. The time between a lightning and the corresponding thunder is found to be
5 seconds. The approximate height of the cloud creating the lightning and the
thunder from the surface of the earth would be
(A) 05 km B) 1-2 km
(C) 16 km (D) 2:0 km
73. ez (SRl (2R @bl FEATHR (RS ?
A) Taw'w (B) Torera
(C) @ (D) o++
73. a @Mb F#Thicas o 2
(A) TIwrE (B) ferms
(C) @ (D) Pr++
73. TEEM T THSHIH TE?
(A) forem (B) AT
(C) T (D) fa++
73. Which one of the following is a computer language?
(A) Windows (B) Linux
(C) Google (D) C++
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74. @GR AfS@T S7y (oifidflen 529 o=/ wEe T = 2

(A) @R (B) (o9

(C) ¢TI (D) 23"
74. T (AT FRBEACTA S99 ARG @1 =7 ¢ifb 291

(A) IO (B) =d

(©) T (D) o
74. SEfn gaemn gfa st safwm fag?

(A) Fwfen (B) g

(C) samTfet (D) TS
74. The antibacterial drug penicillin is derived from

(A) bacteria (B) fungi

(C) algae (D) virus

75. @3 9T (car) 54 km/hr @9 9% Ff =T | G2 AfSC@9Q T C202
(A) 10 m/sec (B) 15 m/sec
(C) 20 m/sec (D) 25 m/sec

75. @3 9N 54 km/hr (3¢8l 5o1Cg | @2 9(feq ST (D 281

(A) 10 m/sec (B) 15 m/sec

(C) 20 m/sec (D) 25 m/sec
75. T8 MERT 54 km/hrid TS @rEl | o @ieE meEi ses qqE?

(A) 10 m/sec (B) 15 m/sec

(C) 20 m/sec (D) 25 m/sec

75. A car is moving with a speed of 54 km/hr. This speed is equal to
(A) 10 m/sec (B) 15 m/sec
(C) 20 m/sec (D) 25 m/sec
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76.

76.

76.

76.

BT R D O b

(A) foferea wEe (B) CHATCADAN ST92T
(C) TR T'HZC (D) (FeIfoa 2RG HRT
G(b FrRTe SPTs)e wRee TeA =

() Fifeore smizw (B) ToCTPRIN SHRT
(C) T wCT=Re (D) (PRI 2PRCGEIRe
T AT TS WTHATET iR |

(A) Tafere sroaTse (B) WHTGEM 3TaTEeS
(C) 1A T 3T9TES (D) HATHIH THZEHITEES
Incomplete combustion of a fuel leads to the production of
(A) silicon oxide (B) magnesium oxide
(C) carbon monoxide (D) calcium hydroxide

77.

77.

77.

77.

RIS (PIACE ¥ae T TaIg® F (1 2

(A) FfF oo (B) SIS

(C) oI G’ ferr (D) 1 whew
5T (I Tl Gl B9 23 2

(A) FPBS el (B) wITe

(C) g SICIfew (D) et iRt
AT T AT AT B ?

(A) Frafes qe (B) 1A I
(C) Tirar wa'for (D) =q frfgzet
In which of the following solutions can gold be dissolved?
(A) Caustic soda (B) Aqua regia
(C) Concentrated ammonia (D) Blue vitriol
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78.

78.

78.

78.

@RS e FTsiae ey (ae

(A) e (B) (37

(C) =T (D) forefss
ARG e oo @l 2o

(A) =T (B)

(C) <= (D) 3T ~n2E (FPrefs)
TATEE SFATEH HETEAT Hell ST

(A) HTeeT (B) g\

(C) e (D) g

The metamorphic form of the granite rock is
(A) marble (B) gneiss
(C) coal (D) pumice

79.

79.

79.

79.

fafeie @Mies T e f1eae @[ (@ In! TLrmed 7/ e 1 @A 2

(A) FH2BCY0 (B) <

(c) o (D) GT'w

1A (@I TeRCn2, (ACF 7o (FF TLOTHS (9aenias) aIl S IR 1 2
(A) FIE=BCTH (B) e

(C) o (D) CEETS

e SeE T g e g e R g

(A) e EESE (B) firerfim

(C) T (D) &g

Which of the following cannot be broken down by any enzyme secreted by human
body?

(A) Carbohydrate (B) Vitamin

(C) Fat (D) Cellulose
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80. IEF-T0 (eV) G4 ice fF AR 41 272
(A) Rure S e
(B) ¥2 S e Zfetapies [ed wms
(C) =N4e e tagies *fe
(D) wge e tagifes 2iem

80. IEFGI-CTG (eV) TE AR 95 I 2o
(A) Caghess Sgicas #Af=iel
(B) 7fb e eay fEefUr f[ecas #I12f<
(C) wnuiceTd &g fde e

(D) SR & iR 21w

80. ITTHRM-HIee (V)3T ____ &I gl g |
INRRUESERISIEEREE]
(B) | AT TeiE o fegm wifserats amanfer wrm
(C) @it fegm mifsets el
(D) TSI fegm mfeersr TrRaify

80. Electron-volt (eV) is a unit to measure
(A) amount of electrical charge
(B) electrostatic potential difference between two charges
(C) electrostatic energy of charges

(D) electrostatic intensity of charges
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81

81.

81.

81.

S ARRIRS RIS FiE =y tace

(A) CerT (B) feram
(C) Frm (D) @@
ST emefR TReRE g sueih 2

(A) &1 (B) f&w
(C) T (D) T
(A) S (B) frues
(C) = (D) Y&
The inert gas having the lowest atomic number is
(A) xenon (B) crypton
(C) neon (D) radon

82.

82.

82.

82.

o

2SI TS| IF B (PG Bl 3120 ] *F @Bl 1 km Seqe wiEq s R [{afs tarz
(A) 1 B (B) 2 (5F%
(C) 3 S (D) 4 (oS

2T SNl G BIC?l, (I G SR T X 1 km Ga0Y NI (ACS S{R[Ife[p S A9Cq
A) 1 O (B) 2 G
(C) 3 COTFY (D) 4 COTFS

STfeH fog TR ARTEeE, EE SETEE @uisEE ke 1 R e e 98 wwi e
CIEIRSIEUIEN

(A) 1 Wb (B) 2 Wk

(C) 3 THh< (D) 4 U<

At normal temperature and pressure, a sound produced at one place will be heard
at a distance of 1 km after approximately

(A) 1 second (B) 2 seconds
(C) 3 seconds (D) 4 seconds
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83.

83.

83.

83.

ffeRe @ @6l SiEaRETe w7 ?
(A) ZTEIG!

(C) @iz

fcsa @ @it siEapTaiTe 71 2

(A) ZeECaE!

(C) @R

TETITE BT S8 SHT g QI

(A) ETHRIEST
(C) TUTaTsfr|

(B) @IfeT-19
(D) ==

(B) FIfeT-19
(D) ==

(B) =ifig-19
(D) R

Which one of the following diseases is not caused by virus?

(A) Influenza
(C) Hepatitis

(B) COVID-19

(D) Tuberculosis

84.

84.

84.

84.

FH TRIHET IFFE AN TS 27 =7
A) FHfF afbe
(C) TR T2

T TIESAT Tee W (aeeT Tem =1
A) FREF abre
(C) TR 2T

e STETFIZSSI < TcATgseAT AT TIHISIT 7
(A) e T
(C) e T ITFATES

(B) 2hRy'w 5 «fow
(D) FH"23CYs

(B) RcyEe afre
(D) FIA2ZCYH

(B) &% ANk THE
(D) RS

Carbon dioxide when mixed with water produces

(A) carbonic acid

(C) carbon monoxide

(B) hydrochloric acid
(D) carbohydrate

UPT-2023/P-11/12-D
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85. (SeIDAE WM (N F %81 Tapewl 35 °C | FICIT226 Tole 379 THwl (202
(A) 31°F (B) 67 °F
(C) 63 °F (D) 95 °F

85. (PRI (ZCE GFib 87 Ol 35 °C | FICAN2I20 (FCE G SIPNEl 3¢

(A) 31°F (B) 67 °F
(C) 63 °F (D) 95 °F
85. UTIHATH Whelld HIGH GUTEAT 35 °C | SRS BRATEE SEa] ST ?
(A) 31°F (B) 67 °F
(C) 63 °F (D) 95 °F

85. The temperature of a body is 35 °C in Celsius scale. This temperature in Fahrenheit

scale is
(A) 31°F (B) 67 °F
(C) 63 °F (D) 95 °F

86. @ (O FCRT W2 4 ©F 7= ?

A) «igfrs (B) T

(C) = (D) @ ™
86. FICbd (ML MRS ©F 7 2

(A) T (B) &N

(C) &= (D) TG
86. TEEM el FTHERATT WM TST7

(A) Tfshfcte (B) W

(C) & (D) ufere
86. Which one of the following is not a synthetic fibre?

(A) Acrylic (B) Silk

(C) Rayon (D) Polyester
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87. O I 639 79 4GS (AT B
A) T'g (B) S
(C) Tw (D) forest

87. O ¢ WHE *F A1y (@ AW “IfKfow Gifb 251
A) &g (B) T™®
(C) 3w (D) forest

87. HUR AW fSrefd o emget
(A) ST (B) i
(C) HeTE (D) Therers
87. The alloy of copper and zinc is known as

(A) bronze (B) steel
(C) solder (D) brass

88. (AT TABH(HET PN (712 O o] T9°ICH] (2R

(A) g (B) T
(C) cresm (D) =g

88. FIfi SHACH PN SCSTIF % (T 08 A feet T/ Gifb 2o
() e (B) e
(C) 1= (D) =TT

88. A T[T FHATE AT JA WA TR T[ATCTeT oel et elisall &7
(A) e TS (B) et e
(C) e e (D) TSI TS

88. Visible light wave with maximum wavelength corresponds to the colour
(A) violet (B) blue
(C) green (D) red
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89. IHS TETE H7(Ed (IO fooqe 2l (=R (2w

(A) 2R e (B) wif¥ce
(C) T TiREIRT (D) =BG e
89. I IF SER NS BACH (WCF (“0ICCB) LTS (@ 5P AT T 2
(A) Z2CHCe (B) f3fCem
(C) TR TEeH T (D) TRCGICSH
89. TIUTIATE ST T e Ueherd TISIHT
(A) TR (B) AfrasH
(C) 1 TTEeTEES (D) AEZH
89. The gas normally introduced in the sealed chips packets found in the market is
(A) hydrogen (B) oxygen
(C) carbon dioxide (D) nitrogen

o~

90. IR (FFCH ¢F AT (972 2

(A) faces (B) @’fow

(C) ffera™ (D) wiofe
90. fIcsa (I &=l ol 2

(A) e (B) SuicHIfem

(C) ffem (D) =nefq
90. e &1 Mt 7 |7

(a) faom (B) wa

(C) feforam (D) WA
90. Which of the following is a greenhouse gas?

(A) Methane (B) Ammonia

(C) Helium (D) Argon
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PART-III : Social Science (Studies)
( Candidates have to attempt Part-II or Part-III )

[ Candidates have to attempt Part-II or Part-III which they have given in their
Application Form and recorded in the OMR Answer-Sheet |

31. WFCE AT I92 91 A9RY (202

(A) T (B) GefferI
(C) &g (D) ©F

31. W @I =S ALY AP (FID ?
A) T (B) Sweffer
(C) &g (D) ©I

31. AFR TIfEn 59 grgEt o aersEmEE
(A) e (B) uqffm
(C) o~ (D) e

31. Which was the first metal to be used by man?
(A) Iron (B) Aluminium

(C) Bronze (D) Copper

32. FRRI® (I 21 P Torersl Terere WEge ke ?

(A) <iferer (B) CorErfea
(€) TR (D) =z

32. iy Tl @M 7@l Fr sTeror wwsfe foa @t 2
(A) lfersee (B) careTiem
(©) Tp-Fp (D) Z30

32. TR e SR fory R @emtaty e T=?
(A) =HifetaT (B) derfam
(©) = foreg (D) &

32. Which of the following locations did not belong to the Indus Valley Civilization?
(A) Kalibangan (B) Dholavira
(C) Machu Picchu (D) Harappa
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33. ffie @mea Gice P Sorerl Terem (@I Afafess 7=+ Tifeet 2

(A) wfEFe-=[ Gfoa (B) “I&T
(C) B “ICof (D) Siem
33. ficy Thalie @M =miba 1o B sTerer (ica e =i feet 1 2
(A) wFpa-o G (B) 10
(C) CueTICHE (D) B
33. Ty T WRMRAET A 6l SRS BIATRT AH-al T=mE
(A) IS -HFST TR (B) uf¥fm
(C) e (D) f=A
33. Indus Valley Civilization did not have trade relations with which of the following?
(A) South East Asia (B) Persia
(C) Mesopotemia (D) China

34. (PN (@ 2N FF 2ADlTeN Jfel Keanal 41 27 2
(A) = (B) Tecam
(C) T (D) <cam

34. &M @ 4T GIR il 201 [Es 341 27 2

(A) SR (B) e
(C) >TNem (D) #cm
34. 4 dSIERT s i o Mo ?
(A) 3dag (B) dq
(C) dHeg (D) FFelg
34. Which Veda is considered as the first and the most ancient one?
(A) The Atharvaveda (B) The Yajurveda
(C) The Samaveda (D) The Rigveda

35. 2Dl TS (ISTET SPT) Jerg 74! AT el 4 |
(A) *ETES AT (B) G qrerag=
(C) “IfeT e (D) el qrer|

UPT-2023/P-11/12-D 58



35.

35.

35.

o2 et ofee 1 @% A FE=me (TSN SR 7 S |

(A) *TES SR (B) G A&

(C) e ArSR! (D) (e AER

ol TSI eI ey (ATt ST )& e ETeTHRg ?

(A) AT TSTHICR (B) H/E TSTHIcR

(C) Ut TSTHITR (D) o TSI

Identify the dynasty which did not rule ancient Kamarupa (present-day Assam).
(A) Salastambha dynasty (B) Maurya dynasty

(C) Pala dynasty (D) Barman dynasty

36.

36.

36.

36.

I TGS DTl AT JATATS (BT bre) Sprate wifafes 2

(A) 2l (B) e

(C) el (D) pfoasf

Bl e gae: (RIEA AR ) S AGEIICE S GTRCE 2
(A) = (B) s

(C) == (D) efeaste

o g qraemt 7o cdTeT AR TSRgAE THE ST AT ?
(A) TSEUA (B) e

(C) ATEREwA (D) yferam

The Chinese traveller Xuanzang (Hiuen Tsang) came to Assam during whose reign?
(A) Harjavarman (B) Pushyavarman
(C) Bhaskaravarman (D) Bhutivarman

37.

37.

o

QIR 2 SR SRR (I PR 2

(A) *RPICE (B) W¥cwa
(C) T8 el (D) R Tl
(P AN SPINA SRR AR SR P 2

(A) TR (B) 4T
(C) I8 Fwfel (D) WiEq Ff
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37

37.

. TR E SEEeTE e I il ggan araE?
(A) TR (B) Hieaed
(C) 3= el (D) |19 et
Who first translated the Ramayana into Assamese?
(A) Sankardev (B) Madhavdev
(C) Ananta Kandali (D) Madhava Kandali

38.

38.

38.

38.

TS MRPTRS (I e GRS 5T SiFe wifew ?
(A) &P (B) femz
(C) Tom (D) F=
e Sfafeefm T @@ »forew are foe 2

(A) (P (B) TP

(C) pfem (D) =R
HIHRIEREIPR I NERES GRS EICEIERIRICREIC

(A) == (B) fewman
(C) wferm (D) T
Which amongst the following was the westernmost kingdom?
(A) Koch (B) Dimasa
(C) Sutiya (D) Kachari

39.

39.

39.

TN A AN T S KB 92 T 41 C2fRe PIh 27
(A) sTealls (B) Baizws

(C) PrPTIsE (D) @2

BN ACHR 2 TR Al (AR B 272

(A) arwaie (B) BAIZTY

(C) fRmer (D) <=0

TEM TSt fifsrfem orsi astemsfen ser e SEmE?

(A) TeTE (B) =ged

(C) T (D) e
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39.

The first permanent capital of Ahom kingdom was established at
(A) Garhgaon (B) Charaideo
(C) Sivasagar (D) Jorhat

40.

40.

40.

40.

e (@ e oce cE I3 A= w=3 2

(A) e (B) f&m «f

(C) F=emm < (D) fora &
ey Tale (e 4T et =ices e I w3 2

(A) B) fay

(C) T f (D) forg ol
TR F6l GNHTN IR &S S Sial aesl =17

(A) stg 9w (B) forg uwm
(C) SHA™ g™ (D) for@ arm
Which of the following religious beliefs is not associated with Hajo?
(A) Buddhism (B) Hinduism
(C) Islam (D) Sikhism

41.

41.

41.

41.

XS] TGRS (L I(BS IWIKell I R 391 (229 2

(A) <BuEl (IFCIET) (B) et

(C) Aol (D) =S

(@ BT *FICIS TGRAC IR 5 QT 2= 2

(A) BTl (=) (B) et

(C) IR0l (D) ¥Y7[q
Farat s& (W)@ ieRaafy Se-ma aiet SR

(A) s (aFerE) (B) =t

(C) (D) AT
Vrindavani Vastra was woven under the guidance of Sankardev at which place?
(A) Batadrava (Bordowa) (B) Majuli

(C) Barpeta (D) Madhupur
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42. SPIHE FIC SF@T T2 F91 FY AP T 5 2

(A) BFTR (B) @< opm
(C) BF (SR=RYT (D) &% 2qCalfm
42. SPICE YACCe qis Qe 2foy] S P9 @ w9 2
(A) BT (B) ®F S5
(C) =T (DIA=YT (D) %% 2ACNR™
42. MM ggieTE e (e garm ggmn 1) JgEmme @ 1esn araE?
(A) TF TH (B) T& 3T
(C) & o AmeTgy (D) T Fwmfe=
42. Name the Sikh Guru who set up a Gurudwara at Dhubri in Assam.
(A) Guru Nanak (B) Guru Angad
(C) Guru Tegh Bahadur (D) Guru Hargobind

43. &R 22T 6T A (e AT 2

(A) =S (B) =R

(C) SIF<= (D) @r=I%Hq
43. MR 2= 91 76 (P =em 2

(A) = (B) =R

(C) I=P<d (D) S=HF
43. feceht fifa grer Aerrsmn |rAE?

(A) ST (B) gHrgw

(©) ¥ (D) STt
43. Who was the first Mughal Emperor of Delhi?

(A) Babur (B) Humayun

(C) Akbar (D) Jahangir

44. TERIRS @EARIF TR 70 T Ja (Fo 7o 261)7 FLe QYS wifRe ?
(A) TRBY (B) fapmma

(C) F=2u¥ (D) S
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44,

44,

44,

e Tale @R (T 5=t I & (T 72 261)97 A I& foge 2

(A) vE3Y (B) fawpiE
(C) 2w (D) S
MEEN GR @ 41 TERISeET i gl (261 BCE)SH @lsal &7
(A) =F=TH (B) forgam
(C) Fesd (D) @i

Which of the following Mauryan emperors was associated with the Kalinga War
(261 BCE)?

(A) Chandragupta (B) Bindusara
(C) Brihadratha (D) Ashoka

45.

45.

45.

45.

AT Picgree 9f2 qrerg F91 GG TEAERFE Bare 541 |

(A) (Sfem perer (B) It gsfirst

(C) v 7 (D) M TR

Ea FIRRP (AT (PICl G ITRCH *PT 91 GG AT *S 9 |
(A) AR Tl (B) @ yofiae!

(C) om < (D) =@ PR

gt T % ST T STESHR ToRTe HThe 311 e
(A) TS geramT (B) Toft giafd

(C) == fafe (D) Tt et =
Identify the only woman to have ever ruled from the throne at Delhi.
(A) Razia Sultana (B) Rani Durgavati
(C) Chand Bibi (D) Rani Lakshmibai

46.

46.

RS @RRIFIE FHTO! SCWETS ST FTeN Y2 el [easa 91 = 2

(A) Tocerst 7= (B) PepeTel Il

(C) T (PR (D) frafer <=

focw Sfafeom Wi & TRl SIewEie SRR TSR *2w BeTa [Rafbe 2
(A) Tocemt I (B) JeperTel IR

(C) T (R (D) forfeT e
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46. 3TEME 3ETH AHEERATE T0H J&d STHREGRM ToWE Sai-gs et arRaH?
(A) ool s (B) hieherdl Se3Tl
(C) TR Tl (D) Tomrmeft Fot

46. Who amongst the following is considered as the youngest martyr of Assam during
the freedom movement?

(A) Tileswari Barua (B) Kanaklata Barua
(C) Kushal Konwar (D) Piyoli Phukan

47. SPINS 22 BI2 MRl 98 F1 Aol SRR SRIGIe e 1 |
(A) COlETRI 41 (B) wiaa we I
(C) C2CI™ 2P Tl (D) elfea™ 7=

47. SAICT 2T BT 9N T T Tl SIKOR ST 2T

(A) ComTIIY T (B) RN we I

(C) (&CI™ 2P I=Fl (D) @enfeaT ==
47. 3TEME R a0 TEEsEE fifafe arfifs ggen aeEm?

(A) HITHTY & (B) HORM &4 swaT

(C) THS TG FH3 (D) TR e

47. Identify the native Indian person who started the first tea estate in Assam.
(A) Bholanath Baruah (B) Maniram Dutta Baruah

(C) Hemendra Prasad Barooah (D) Gunabhiram Baruah

48. (I SRS TS SJlol ST ool (2R 2
(A) 1857-1858 (B) 1916-1918
(C) 1942-1945 (D) 1930-1931

48. T RICTI HICHET (Pl R 2 26T 7

(A) 1857-1858 (B) 1916-1918

(C) 1942-1945 (D) 1930-1931
48. 9d WK HHEERARET Hisell STRETHMA ?

(A) 1857-1858 (B) 1916-1918

(C) 1942-1945 (D) 1930-1931
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48. Quit India Movement took place during which period?
(A) 1857-1858 (B) 1916-1918
(C) 1942-1945 (D) 1930-1931

49. &tz IR See FEERC (@G @F e TEEg F! TR ?

(A) BT (B) &femS

(C) IR (D) eI
49. T TElRe el &b« = emeen e sikerg 2 fee 1 2

(A) “NCorRST (B) =i

(C) sR@Sf (D) T=eread
49, TRMEH T TS YA WSHT GHEH @1 717

(A) draaret (B) SftFerdt

(C) Wqamd (D) HEerETd
49. Which of the following was not a revenue collection system of British India?

(A) Patwari (B) Zamindari

(C) Ryotwari (D) Mahalwari

50. “f%TEIT GB ST TS (FIICH! TN FLHAMIS (2 SR 2

(A) TP IR (B) W% el
(C) e eica (D) SR I
50. “ISToEa Qb SR 0% (Pl N TS 20T AR ?
(A) T AT (B) W% Tl
(C) e eica (D) wER™ I
50. dfe=fieTa oS TR SHHS TRET Arsell &7
(A) TR THEH (B) @M= F&dt
(C) forren v (D) Rfer< =y
50. Whose name is associated with an Ashram at Pondicherry?
(A) Ramakrishna Paramahansa (B) Dayananda Saraswati
(C) Vinoba Bhave (D) Aurobindo Ghose
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51. SIS0 JAAST GFFT YRS (el 27

(A) eE 2 v (B) I3

(C) T TcaGs (D) &1 LTS (MCHG 2 )
51. Fou L IeP GFFT SR o1l =T

(A) TEP SIS (FBCTF-ZPREH) (B) ANES SIS ( WIC-BCHIR)

(C) =S (FFWELH) (D) IS LS (G SR
51. J TSR A dicieimeEE! 71 g7

(A) @ T (B) g T@T

(C) FRIAMTER (D) ®TeE T
51. The study of individual economic units is called

(A) microeconomics (B) macroeconomics

(C) econometrics (D) market economics

52. 212 Yge FfiRe @mky s TEee 2

(A) T (B) &t

(C) 3 (D) fersfier
52. ey Tiale sRawalr qey @b A1 e SEes ?

(A) T (B) “fcl

(C) o (D) fertiet
52. MEREH & WA Ife Wi serm?

(A) SHETRY™ (B) Tt

(C) SeE g (D) <™

52. Which of the following activities is included in the primary sector?
(A) Manufacturing (B) Services

(C) Agriculture (D) Construction

53. ©oTo [MAPTR (FCHIF SwEeg =om Jfer i< 2
(A) AT (o5 (B) el
(C) BTcaferM (D) TR
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53. fcy Sfafie @M S eReeny 7om & q 2
(A) SeifReRS oo (B) %Il
(C) 2Tl (D) TR
53. TEEM F9E Seq! VS H©T S g1 e
(A) GiEE 9= (B) It
(©) T (D) =m
53. Which of the following can be termed as a non-exhaustible resource?
(A) Crude oil (B) Coal
(C) Uranium (D) Air
54. ST ITLS TR, (FAR F TR {PRT 711 GFSCalls 1 Fo Farees & qrreere

54.

54.

54.

ST I N 2, OF (@l 2
(A) TSRS (B) =4
(C) vzl (D) Ty

Tifere g TR TR, R A AR Tel 7@ Jfe A Afviem TR a0
O WIS T BT

() wIfe (B) 39
(C) @ (D) T

TETEETE A8 SeRr] TR STRATRETN, STHET U geUiETHH qH TeT gifser
HATHIE TS @A g foee a7 foemmt a1 et

(A) Heg (B) TSI

(C) o (D) Ffst

In economics, a mandatory contribution levied on individuals or corporations by a
government entity whether local, regional or national, is termed as

(A) subsidy (B) tax
(C) salary (D) wage

55.

SRR e (%S kR (PR ¢fite wwee S #/1f< 2
(A) Jredl 493 (AfETF) @ (B) “fR0e4 (@% (CoICIGH (T%)
(C) SFpire % (D) (FER @®
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55. ey TfalRe @m e saeor {ers s a4l a7 2
(A) TRIIR AT (IRPNRF) WIS (B) W WRF
(C) wFhIfer AP (D) FTR RS
55. YRATR &M sehell 9¢ JrEisTE Q! g e
(A) T T BEAM (BIATRIN) S (B) BT T
(C) HIR foremsm™ d (D) fire a9
55. The Reserve Bank of India can be placed in which of the following categories?
(A) Public Sector (Commercial) Bank (B) Payments Bank
(C) Scheduled Bank (D) Central Bank
56. ©[q9q G FES Ul IE fefe Cacr
(A) 5 T (B) SIS Plorerd IS A
(C) TRe (faxre) Tewe (D) el Sq@r e
56. TECSH TG U AT e 291
(A) e (B) SRS FoCed UK T
(C) Ca® (faxrgs) T (D) TS ST
56. SRITAE WRAM @ER @S 37F dHRT|
(A) @91 oA (B) TS U fowrg wH
(C) erg (F=R) WM (D) @0 T 9=
56. The present monetary system in India is based on
(A) gold standard
(B) inconvertible paper currency standard
(C) double (bimetal) standard
(D) credit money standard
57. ‘@GN @3 TLATST TS 2T I FA© 3 A (FCAR] FERFTS 2SR I DA —E3

Tfes qakeel [ 9 =% 92« 9 =R 2
(A) 2fYH6T (B) (9159
(C) febema (D) SR
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57.

57.

57.

“ gl Treltfoss Tomr, A 2ACEIe T 20, O g T 2SR 2RI T — (I G
M GF o TS T 2

(A) = (B) frmEe

(C) @B (D) e

“Fele AR TSR @I AEEnn SeREE STeFTE $ TEH aFa g JegAeEe e
Tieer —d it fuforgHmmE 21 AHae otd Wik STeEER S

(A) fefemn (Indicator) (B) @if=er@mn (Regulator)

(C) TSR THHSTEE (Multiplier) (D) %W (Magnifier)

What single term is used for “an economic factor, that, when applied, amplifies the
effect of some other outcome”?

(A) Indicator (B) Regulator
(C) Multiplier (D) Magnifier

58.

58.

58.

58.

SAeTH® 516~ Aq& I FRe RO e (It fHeavan w4 27 2
(A) e T (B) fewrael
() wim (D) Tg5 2

ey Tfafer@ T @FheE SRS AN (AE XRCE ISP A9 Fhe 2 [eaeen w4
277

(A) @R (B) fasaer

(C) g (D) T9H B

e seE! TRaf MR- STesmEEA e ST e gh e

(A) wEw (B) TRaRTE

() TremEfem (D) o™ &R

Which of the following is considered as the major reason for rural-urban migration
in India?

(A) Unemployment (B) Illiteracy

(C) Poverty (D) Mortality rate

59.

Ty iferen %1 (WTO)T T2 PRI 39 [T 2
(A) T 236, Scas! Tl (B) fEfer4, sfifel
(C) FAETETAE, A=Al (D) CeCaTel, HRSIRCaS
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59. g Fifeey 1T (WTO)F Sa 78 (IR ST 2

(A) T T==F, WP o3 (B) faefa, wrfif
(C) PARIRAN[E, AR (D) CECTel, FRERES
59. T BT fSwEE (WTO) Ter Hra@’ 31 siel?
(A) = ATk (AR TT3 BTR) (B) wgfeh (SmHT)
(C) F3TTeT TP (HAAH) (D) SHaT (feresiat ©)
59. Where is the headquarters of the World Trade Organization (WTO) located?
(A) New York, USA (B) Munich, Germany
(C) Kuala Lumpur, Malaysia (D) Geneva, Switzerland

OO { O

60. FEERe @G [Fas seade Ten ¥

51C3 Case 41 =7 2

(A) 1 «@f2e™ »[1 31 6 (B) 1 69 711 31 Geiieca

(C) 1 WFERINE *[ 31 focraace (D) 1 CSCHFRT 7/ 31 h¢e
60. Gy Tafie @@ Srce iy 30w 2o R[iafbe 212

(A) 1 «fZ@ (aeE 31 w6 (B) 1 b (AT 31 TR

(C) 1 SRR ¢xc 31 ferrsa (D) 1 G5 (ACF 31 T
60. TEEMH @l TS qZ™ ge gHi?

A) 1 T@-31 7= (B) 1 HM-31 a3

(C) 1 STari-31 feamr (D) 1 YUdmr-31 9

60. Which of the following is considered as the fiscal year in India?
(A) 1st of April to 31st of March
(B) 1st of March to 31st of July
(C) 1st of January to 31st of December
(D) 1st of September to 31st of March

61. [ERIR® @M< v [ReEeia s Freg E 278 2

(A) S 4T S (B) I 3Tfa SH6f

(C) =Tl = I S (D) 2= T “AfRFE
61. ey Tfale @M “RFan Rered T Mg &= 2

(A) & & el (B) S0l @ e

(C) =@l = I Sl (D) 24ewa Teget “If5Ee
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61.

61.

e o« grauiiaan s ' wR arEm?
(A) SH &7 TS (B) geh=1 Tgfg AT
(C) Je=mf gea fom s (D) JIFHE ISTael AT

Which of the following schemes is specifically for the girl child?
(A) Jan Dhan Yojana

(B) Sukanya Samriddhi Yojana

(C) Pradhan Mantri Suraksha Bima Yojana

(D) Prime Minister Ujjwala Plan

62.

62.

62.

62.

TR PTG ©eTS [rPTRe (I ?

(A) TR oW TR (B) wif(afes [

(C) 2o TeRe (D) wsfefes [

i CfalRe @M S TPk e ?

(A) TR S0 TR (B) w=ftaifes R

(C) 27" T (D) 2ufefes KM
MR Se2T SATRRATATE ST Me AWHEE (Concept) ?

(A) Gg TFIE SIS (B) Tl Simeg
(C) ITSEUTE SHTE (D) WIIATR Seg
Which of the following is a contemporary concept of development?
(A) Human resource development (B) Economic growth
(C) Sustainable development (D) Sectoral growth

63.

63.

NS =7 1o f2p1ca [Rfbe, The Wealth of Nationsd IERSIRIS! &1 2

(A) el 3 (B) U P2

(C) 2’5z 2T (D) Q@I @Flem

(& The Wealth of Nations =% T5+I1 I 3R SLfeq Tod f21a KA 20 2
(A) Tt sl (B) e g

(C) P 2fT (D) @gif FEfem
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63. 2 o9 3% Agg-T1 forfift s gar=eEi fomer g fwfdmn, faurer ar?

(A) hTet TTad (B) 3men faqy
(C) uHT =i (D) ST Tehfor
63. Who wrote The Wealth of Nations and is considered as the father of Economics?
(A) Karl Marx (B) Adam Smith
(C) Thomas Hardy (D) Benjamin Franklin

64. woTS [WAPTYRI (PICH! (FII ACHOT G5 ToMI 7=H ?

(A) zrors fqoe f[fecms (B) ez D
(C) el T (D) FeTeeT Sik2Z
64. i Sfefe (i (@@ qeeets 90 SAmE w3 2
(A) zrors Rk R[fec (B) ATers AICEH
(C) T I (D) e ey
64. RS THT So T TYHTR YT STEr TST7
(A) T TERIN oSt o (B) T Temar@n
(C) e TeTEE (D) HRfwm A gemw
64. Which of the following is not a component of Union Budget?
(A) Foreign Direct Investment (B) Revenue Budget
(C) Capital Expenditure (D) Capital Receipts

65. Aife sl (NITI Aayog)d SHFFSRIS (e ?

(A) oo s (B) ©HeR fReme (@zq sefq
(C) Req Rewgl (D) ©[Req 2T

65. Aife sl (NITI Aayog)dd SHFF (CGIRAPT) (F 2

(A) RCeR AFAfe (B) SRR [ers Icwd fe-iq
(C) orHTed wTE (D) SIRCeA Y]
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65.

65.

NITI SRR STTRIERTRRT FiX?
(A) WRATR BRI (B) wrai festier sshfa g
(C) WIETR T LT HA(Y (D) 9RATR T 7=y

Who is the Chairperson of the NITI Aayog?

(A) The President of India

(B) The Governor of the Reserve Bank of India
(C) The Finance Minister of India

(D) The Prime Minister of India

66.

66.

66.

66.

©eTS VPR (FICH! 9% ?

(A) 2" TGS 2@ (GNP) = (16 G7ceTel 2eiF (NNP) — (Sfafbem e

(B) &’% ¢TI 2Tig (GNP) = 2’= Tl § 2wg (GDP) — (16 3@n {767 (NR) + 16
¢icoz (NP)

(C) 16 ™t 2wig (NNP) = 2’% et 213 (GNP) — (b=

(D) 2’z ©'CHl & 2@g (GDP) = 2’7 (™1 2@ (GNP) + (Cl2baEme

o Sfafis @i Al 2

(A) I SO A5 (GNP) 9 9% STely #if (NNP) — 953

(B) (6 &To™ 715 (GNP) = 6 (79 217 (GDP) — W& o¥ «1f% (NR) + W& 2ne 5ief
(NP)

(C) % STely ) (NNP) = (b SO’ 217 (GNP) — S{5%

(D) G5 1 “°7 (GDP) = (W6 &rerw 75 (GNP) + O[3

TS EAEGRE TSE Fea1 ai?

(A) S ATETR fagem (GNP) = T+ A& fegaam™ (NNP) — 58 @HREH™

(B) S #TETR fagaema (GNP) = S F@wd! fagiam™ (GDP) — o 3™ Fawsl (NR) + o
&1 T (NP)

(C) T AR fgum™ (NNP) = Si9 #ETH fegaam™ (GNP) — s#H @HEE

(D) S @R fega9m™ (GDP) = S9T™ HIETR g9 (GNP) + a6+ TR

Which of the following is correct?
(A) Gross National Product (GNP) = Net National Product (NNP) — Depreciation

(B) Gross National Product (GNP) = Gross Domestic Product (GDP) — Net Income
Receipts (NR) + Net Payments (NP)

(C) Net National Product (NNP) = Gross National Product (GNP) — Depreciation
(D) Gross Domestic Product (GDP) = Gross National Product (GNP) + Depreciation
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67.

67.

67.

67.

9 0Ny I FPIEe 999 (7 @R WG EE @ =

(A) fEECE Rt TP (B) 6 CoIeT TN
(C) 2'% 2PN (D) o5 ce=et B
T 2GR 7R PRI FI02 @ Wz S T[S ACF O 6T 2
(A) RcTvegeTe = (B) afeare =R

(C) G = (D) RIS S
WISTHT BRI 379 TG AT & ST |7 8= ?

(A) TITE TR A (B) a2

(C) T 3™ (D) ¥TE™ SIRE 3™

The net income left with households after taxes is termed as
(A) discretionary income (B) personal income

(C) gross income (D) disposable income

68.

68.

68.

68.

Teq-7q Soe Sulfa, el ¢ PR APH FeEE A FElle @M AfeRie
T, U, TG S J28 TCHIaPTRS SIS M= 2l 5 ?

(A) T#cF (NEEPCO) (B) GToiF (NEDFi)

(C) AN (NERAMAC) (D) T2fefe (NEHHDC)

ey Sfafe afovmafr T @Ml Tex-71 orre Mg RSP g3 FR-TRFe o5
BT & O[O T, U, TR G9R TC TEapleies i TRl AwlE Cd ?

(A) T (NEEPCO) (B) GTefF (NEDFi)
(C) =ENF (NERAMAC) (D) ¢T2fSR1 (NEHHDC)

T IS TRATE TR od BEAT 9fg, Thar, TS TR el Bl BEHAEHAT ST,
THT G A8 AR AR AELRE o] TSTR THESTE 217

(A) fger (NEEPCO) (B) “e# (NEDFj)

(C) % (NERAMAC) (D) "geddt (NEHHDC)

Which of the following institutions provides financial assistance to micro, small,
medium and large enterprises for setting up industrial, infrastructure and
agri-allied projects in North-East India?

(A) NEEPCO (B) NEDFi
(C) NERAMAC (D) NEHHDC
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69. DTS YA TFAFT GO (FAYT STOZ DT e 2

(A) =T 5T (B) afefigyers a1z
(C) e alTog (D)« siTog
69. DI AT AFAT (FIe 40K TSI b FAC0 2
(A) 2o 9Ty (B) #fefaf LRPEIP 917T9g
(C) TR oo (D) &S aITog
69. TEI-TER™ TS W A1 Tk GIETf-amal wicrari?
(A) ST gg@T (B) T gg@f
(C) wfafSteami gt (D) TR g
69. In ancient times, which type of democracy was practised by Athenian Greeks?
(A) Direct Democracy (B) Representative Democracy
(C) Constitutional Democracy (D) Religious Democracy

70. SR 799 LTS fTHIS (FICo] GF IR > oTFR> 727 2

(A) T ANS (B) ¢ Tl
(C) M T (D) ¢*Ta ~Ifw
70. foicy Thaie @i eReed *RieceT i X A%E] 79 2
(A) = e (B) = far
(C) T T (D) ¢N= ~faw
70. TEMEM ST MRAM TR SAEE SRR G T1?
(A) TTfectTdT ATHIG (B) @rfseran T
(C) wfectan wHemE (D) effsera Tga
70. Which of the following is not a local governance body in urban areas of India?
(A) Municipal Committee (B) Municipal Corporation
(C) Municipal Authority (D) Municipal Council

71. SRR FRYAE 2R -EEe ke @ [qhe 37 2
(A) =R Prams [, 9. SR F91 4691 2o a8ReR oS |
(B) =B FENCH SRS TR 2[1 419 Sl (22 |
(C) =BIF® AR TIEPTR SIS (SIS TETEL PR 21 1 |
(D) 429 ARRAFTF TN (1976)7 SHTS 2RIFIR TN F1 (22 |
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71. focy Sfafe @ [fel smeh weRies e[ ¢Feg 37 2
(A) ZBRAIH [, . IR T 24are WD NI U711 fofe I |
(B) 2BRAR RN SRR TR (A 47 I 3R |
(C) 2BRNE RLF SNBCTa SMIECS IR |
(D) 42%F ARRF AN (1976)7 AT 2B AT F1 20 |

71. TEMETE BT S8 YRaTR dfafsef gm e gee oar?
(A) T BRAR folo 3TRo srrigsrsl forstm garni faerifafy wmeme dmm |
(B) G ®IAMM AHE! ARRe sH fafseiHe™ amm smai|
(C) M BRAAM T fafsraTersa STk @rems s |
(D) T BRARE! 421 wfafrei et (1976) T=ieTa BEEAE SAEHA |

71. Which of the following statements is true of the Preamble to the Constitution of
India?
(A) The Preamble is based on the Objective Resolution drafted by B. R. Ambedkar.
(B) The idea of the Preamble was borrowed from the Constitution of Ireland.
(C) The provisions of the Preamble are enforceable in a court of law.

(D) Amendment of the Preamble was carried out under 42nd Constitutional
Amendment (1976).

72. Rwereze e e B & Seaxes 925 ¢ @l @3 (ICT)T el F9 e
|
(A) =nfemia
(B) CTRG
(C) ToURM & ANSHIIIETE ~[TowleT
(D) RA-RIAN (FIO2E PPTRS FPenfze 41
72. ROEIA ANERER RIGER FrFe SR & 927 ¢ @M1 2& I98E IS AE 2
(A) NG 2WIeTH &)
(B) ReamcTa &0

(C) ToURR G ARSFRAT PREFITICT &l
(D) Frwdicm (Frgee el frenes e

72. FEETEE g et eRiffer ICT serar e
(A) @S A
(B) T &
(C) FitH TR TR BN ord
(D) HEEMERE FHfom qams diam Fifwrg 2ot am
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72. In schools, the teacher of social science subjects can use ICT for
(A) punishment
(B) entertainment
(C) evaluation and remedial teaching

(D) discouraging curious questions by students

73. %27 (Skype), @9« 6 (Google Meet), I¥ (Zoom) W (&2 FEI @72 (Apps) B[l
TEO(E; 3R RO IS q77e 27 PIeol 29

(A) fefE=r some (B) fef=r’ srer-sifiera
(C) fefewr ergesqa (D) BFF 2rel[d i

73. %27 (Skype), %% 6 (Google Meet), G (Zoom), T SI7M/FFHETRBE @ FICS
TS T GG 2

(A) PIERS e (fefbs «fee)
(B) Pcaet vfewer (fefvs emricafie)

(C) PICARG 212 (TefbsafF)
(D) OFFY 2ol coft w1 (frcafir foeer aizs)

73. T, T Hie, I FEfE T/awewE: 3 oame™ sen S
(A) fean wfsfen (B) ffeat swwrafam

(C) =it (D) Tt e IHREAM

73. Skype, Google Meet, Zoom, etc. are some names of apps/software for
(A) video editing (B) video conferencing

(C) videography (D) creating visual effects
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74. PR 92 6 QSN 2qf& (ICT)T A92cd RIh FINT @eof Frsereeas 3 [P
SRR P 0 2MIE e BIeol 2

(A) BIG-ZIQPRFETS TCACAI SR T Sepe o Rpife
(B) PrvR faaees Taresad

(C) Trpel o PIpers SIfE FoizpTeael

(D) ©R-RFTeRe @@ Wew 2Efe

74. RWlET O ¢ @l Afe P Freicd AR SRR el 2 F¢d 2

(A) FERRioR W SR Remers wes e e
(B) Frwiere s Tate

(C) Trpel & P SIfE Foied] 1

(D) I & - RREre Tem o

74. FEETEE CTH gioar ammen SR 3 guare misd seear 719 @rg 8er?
(A) HIFETHRA TERE g9 g AT (Popular entertainment) fhfeet
(B) Gt TREmaTE! arafi et
(C) SR TR ARG STHHR W™
(D) SRIFETd EHaTETR el gar RS

74. ICT in schools provides an opportunity to teachers to misuse the facility by
(A) diverting student’s mind towards popular entertainment
(B) improving educational content
(C) making teaching and learning more effective

(D) making interactive class material
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75. NSRS “o7aaq [REEE o 7 2 8 @9l 2fE (ICT) T9=F 1 Rulerpi=s
cFqe e @ KM ey 77 2
(A) 25 8 Q@AM 2fE (ICT) Mrees @3 [e 273 71T |
(B) © € @I 23S (ICT)@ Frsaa =R W9 21l 2P 39 e |

(C) ©=y ¢ ANl e (ICT)@ Frpa-fie afe Telaerrze Tnalf @eelEre T2Re 2’7
I |

(D) ©25 & AN 2fE (ICT)@ Fpe el Sk oifqe e Sferd “I1cq |

75. 36 RWEIE TGRSR AT R AMCTd o) O 8 9] 2Re IR CFeq

i @R /el e 7@ 2

(A) 25 8 Q@AM 2fE qFew Frsced [958 20 I |

(B) @2 & QNI =& qFeas Frscpd =R =T FACS A1 |

(C) == € @AM 2jf& FrFmic TeRAcE L TS AR FAC I |
(D) 20 8 Gl e (4 2l G SIS NI e e e |

75. ICT SEREAT TATS [ STEemen SR GUEETicH! e Se@T TR 717
(A) ICT-3T1 BRIFRA S @ g
(B) ICT-31 ®BIIfRA @ik aredie-mee @HrEH gm |
(C) ICT-3T BRHE-BIANE BIEHEE Heg 8 |
(D) ICT-3AT WIAHREE! TR SRIFET - gHaTs=R Qa1 gr= |

75. For a school using ICT for delivering course contents of social science, which of the
following statements is not correct?

(A) ICT can be a substitute for a teacher.
(B) ICT can reduce physical labour of a teacher.
(C) ICT can help in supporting innovations in teaching-learning.

(D) ICT can make learning more interactive.

76. 329 2129 71 S fricet f2pla wiacel TORoT 212 ='7
(A) 3 (B) 7=t
(C) ==t (D) w&F
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76.

76.

76.

F2=fe (A0 A Wi gor 2= (@I 2

(A) 3 (B) <t
(C) o (D) W&

Fewfd TeFHE™ 9 BRE 9= 31 geT we?

(A) g9 (B) gfereht
(C) Wt (D) I

Which is the third planet from Jupiter towards the Sun?
(A) Mercury (B) Earth

(C) Mars (D) Venus

77.

77.

77.

77.

e Sife 2/ PIRSMe 2o SRR A SR B 347 |
(A) WFRR B 18 (B) == 6]

(C) QR Zerrent (D) Tea HaGF TZPTeR

fay

e OIfer sl (A Feraze PR bize 3 |

(A) e DI TSI (B) s Tiolq

(C) QR Zerent (D) T&F HGAGF F2PToR
BN SEASAE @ 0 o A

(A) @rer-fo e (B) fERm et

(C) =T we (D) HT-3Teerf=a deim

Identify the landlocked water body in the following list.
(A) South China Sea (B) Caspian Sea

(C) Bering Strait (D) North Atlantic Ocean
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78. weTe TEPTRe feese ore RS SbRecs oo™ B9 (Il ?

(A) <fRssrs (B) wr@ssrS
©) ve= (D) 2RI (CI5eT)
78. fcw Tfafe @R (oI #|f2_E 1 w1 2
(A) BT (B) STo@ate (FHIGe
(C) ve= (D) P
78. TEEM =T FEATR T MSeA ot ?
(A) ST femEn (B) & fermn
(© = (D) ¥ T
78. Which of the following is the topmost layer of terrestrial earth?
(A) Outer core (B) Inner core
(C) Crust (D) Mantle

79. SR TRCE Thow X0l oare 41 |

(A) STD e (B) TP Geigz

(C) TG Rplemeea (D) WTH (AeE
79. SIEFF TR Thew Wwb Hfze 39 |

(A) Femm oo (B) «wigw s

(C) ffemigcan *~fe (D) =i 7o
79. 3R BRI SR gt fafafaf gam mr?

(A) RSITATHT TSR (B) Tegd TSR

(C) Terfermemr gty (D) A=fE T
79. Identify the tallest peak of African continent.

(A) Mount Fujiyama (B) Mount Elbrus

(C) Mount Kilimanjaro (D) Mount Menzies

~

80. TFY TxeR oo S@e: bl e SISl R o @[ TMed Thef e TR

<

! 2
A) e (B) fz@r2
(C) Torfdere (D) SreTef
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80. iy Tferfe (@ib (b Twet THSR A1 AR GEI (AT @O G ST T

T 0T 2
(a) 7 (B) =
(C) fafzr® (D) SreTe
80. TEMAIM T TERH TTect, ST & Hel S ARG STTac S HRATIEE Sifee?
(A) TSI (B) =% <HT
(C) @m@E g (D) SRA

80. Which of the following is a flat, elevated landform that rises sharply above the
surrounding area on at least one side?

(A) Mountain (B) Glacier
(C) Ravine (D) Plateau

81. SO W AT T 82-8° 77 WKW (FIC[ RS (I BIFT FICACq #I19 (7 ColR ?

(A) =TS T o (B) SCHIvEI SR SeT7[S1
(C) FIfETR PRI 4’7’ (D) TIE FRS (IR

81. SIFOR 2 IS ACACTE 82-8° 717 Wi foycy e (e Tl = fwex T’ 2
(A) ZrRTsREICSS FICR fei7E (B) SR 0 Serl~[Jl
(C) (IR FIC2 4TIl (D) $oIICeTa SFICE. RRIPHI

81. WRATR WA @9 (IST)F 82-8° WS IFEMTHEMT MR o« ST @IS oSt ?
(A) TSR, TR @rfeETE (B) ITTHRIYH, FEIE @IEE
(C) @A, ShifeaT QTR (D) SR, JTe @R

81. The 82:8° E longitude for Indian Standard Time passes near which of the following
locations?
(A) Mirzapur, near Prayagraj (B) Alkapuri, near Vadodara
(C) Khonoma, near Kohima (D) Berasia, near Bhopal

82. RIS @I *~exe f2ler Rowree e 7w 2

(A) TTH a’Tfae =°C (B) ITH Fleeesia]

(C) T =PI (D) WEH (AP I
82. ity Tfle (@ *Romib Ber “ReweR M 7% ?

(A) TTTI IO 2T (B) JleTered] #if®

(C) PIe] *[f® (D) ATl 1 7H®
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82.

82.

TeEH s« g ffafen e s fen?

(A) TTefam AT g (B) el BTSSR

(C) TR BTSN (D) YT 1 gSreTi

Which of the following mountain peaks is not in the Himalayan Range?
(A) Mount Godwin Austen (B) Mount Kanchenjunga

(C) Mount Makalu (D) Mount Dhaulagiri I

83. MY IR qH FIR0aS! qFe I (¢ 17 O BTMD) (Pl i Ao SLfEs ?
(A) =R (B) =Tl
(C) Comr=s (D) FcEq

83. IR ICARA ACHR 7T AP G IS (BN SF 2TfD) (el e SIed ST 2
(A) = (B) ==l
(C) comst (D) S

83. HER R A<l T JoH™ @I gidan (Y=g 316 gH) 99 | amma?
(A) "erd (B) et
(C) TaTe (D) HTeit

83. The Statue of Unity near Sardar Sarovar Dam is on which river?
(A) Mahanadi (B) Narmada
(C) Godawari (D) Cauvery

84. IRFF A& 527 (32
(A) N (B) H8re
(C) =il (D) FRwEm

84. SRR A *[BCF A 26
(A) @ (B) H&law
(C) =il (D) FRWRAM
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84.

84.

EhEmnt TSR SEr?

(A) TeI™ (B) ==ig

(C) uTa (D) wIiETsTE
Name the capital city of Haryana.

(A) Gurugram (B) Chandigarh
(C) Panipat (D) Faridabad

85.

85.

85.

85.

e @@ FThTe T Sed TRIAR SeTe SHEe w7y ?

(A) ~Af&ToI/7[Teo (B) EIFFTaA

(C) ey (D) w7l @ ToIF BICefe] S wINe ¢ e
RIS (@M FEIPTS S%eah SReed ToRIAR PR S[Es o3 ?

(A) R (B) =AFFRIA

(C) =4 (D) Wl € W59 BICeSfel G 7w ¢ T
T wel AT §R] ST JRdl M gHrRE e

(A) 9=l (B) @erg

(C) @& (D) TTET AR AR Faet 3T A4 A fe3

Which of the following Union Territories is not located in the peninsular India?
(A) Puducherry

(B) Lakshadweep

(C) Ladakh

(D) Dadra and Nagar Haveli and Daman and Diu

86.

86.

86.

P Teq ST bR Il e e w4 |

A) fofew (B) o
(C) STFeseT 2ol (D) TaICeTe
SPTCHR Teq S o 91 At fofee 39 1

INIREIR (B) It
(C) STRFeTsET 2! I IGIRIEH
T ESNAT A AR Fomrsi i ?

A) fafem (B) GHTE ST
(C) 3TEUI=I UeuT (D) A ©
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86.

Identify the State that touches the northern border of Assam.

(A) Sikkim (B) West Bengal
(C) Arunachal Pradesh (D) Nagaland

87.

87.

87.

87.

FRIe (FFICOR A BAZI0! 52747 SABRO(P ANR_! ?

(A) R InA@ STeR=eD (B) et

(C) e~ Tl (D) Erresat W

forcw Tfafie @miba faeben *r2g wa=ifs 2

(A) IR InAE TSR (B) et

(C) SRR Tl JaIes] (D) feRTSF =Ml

NEINIR R RUCEIERCIRI R

(A) Tfera SIS SRASTR (B) wrfet

(C) S @ 3H (D) o= sweft am

Which of the following has Guwahati as the closest city?
(A) Pobitora Wildlife Sanctuary (B) Majuli

(C) Joypur Rainforest (D) Jia Bharali River

88.

88.

88.

woTs fPTEa SbiRels 7qe SfFe 93w (202

(A) PrRPTsR (B) Teq eTRN7[
(C) fugorw (D) fefepr
e Sfafe gmafem T @i ~[ox fies sxfEe 2

(A) freTeR (B) Teq aERNoE
(C) fegore (D) fowmifem
MEMEE B S8 STETET AT ?

A) TR (B) @T-ai&HgR
() fegme (D) fergferm
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88. Amongst the following, which place is located at the easternmost?
(A) Sivasagar (B) North Lakhimpur
(C) Dibrugarh (D) Tinsukia

89. iy IBCO! fef 51 |

(A) RIS : BTG (B) weRmels : oG ferms
(C) TR : STl (D) cHfSo! : el

89. “rum (well fHfze 79 |
(A) QRIS : BT (B) ¥femare : Coichifer
(C) =TFoR : BTN (D) CHBT « <wel

89. TRIfY THI '@l W@
(A) SRS : T (B) 3 : g formm
(C) TTHT : FFam (D) HTERET : e

89. Identify the incorrectly matched pair.
(A) Bokajan : cement (B) Duliajan : petroleum
(C) Haflong : uranium (D) Margherita : coal

90. I7[@ 4 T < el Y5 FRERCH forires 4 |

() cmifE (B) @z

(C) o (D) e
90. I7[@ 7T TEq CICq ST (E@l (s HiEe 9 |

(A) IS (B) =216

(C) wls (D) PeT5R
90. FYA ST HTEl T IHE fSen mer uew @ fomr:

(A) e (B) ST

(C) Tma (D) faa=
90. Identify the district headquarters located on the northern bank of river

Brahmaputra.

(A) Dhemaji (B) Jorhat

(C) Nagaon (D) Silchar
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Part—IV : Language—II [English (Compulsory)]

TR 2 2 W ST (KA J2 305! 2R B0 BF G2 TR AR AR AT AL |

R 92 ol SEI-II (A6 -t (W5 301 2% WiR @R G2 el e RIFIRI Sl NTOILET |

AT A ¢ S arErTEE Ta-I (E0st) T oEm 30 geEf mafer 5 e e et e e

el

Tl : Tft wierfe % fore 3@ v § w1 (37s) % axft 30 wed sifrer §)

Important : This part contains 30 questions for Language-II (English) and it is
compulsory for all candidates.

(English)
Direction (Q.No. 91 to 120)

91. Identify the singular noun amongst the following :
(A) People (B) Police
(C) Poultry (D) Pageant

92. Identify the correct pair with opposite genders :
(A) Maid : Maiden (B) Ox : Oxen
() Monk : Nun (D) Pilot : Steward

93. Which of the following sentences has an adverb?
(A) Pinky is playing with a shiny ball.
(B) The bus was moving very fast.
(C) The ocean has taken a deep blue hue.

(D) The pilot was wearing a smart uniform.

94. Identify the adjective in the following sentence :
The bottle is made of brittle glass.

(A) brittle (B) bottle
(C) made (D) The

95. Which of the following sentences has a comparative degree?
(A) Rajiv is taller than any other boy in the class.
(B) Simon is the tallest boy in school.
(C) Kamala is a tall girl.
(D) Rupali is the only girl in the class.
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96. Identify the incorrect usage of article :
(A) An open umbrella (B) A honourable man
(C) A haunted house (D) An upturned boat
97. Which of the options would best fill the blank in the following sentence?
You can ______ words in a dictionary.
(A) look up to (B) look after
(C) look up (D) look in
98. Identify the correct set that would best fill the blanks in the following sentence :
Imet _____ person on my way to office, and _____ person turned out tobe ______
old friend.
(A) an, a, a (B) the, a, a
(C) the, a, the (D) a, the, an
99. Which part of speech does the underlined word belong to?
I met your brother.
(A) Noun (B) Adjective
(C) Pronoun (D) Adverb
100. Identify the sentence with interjection :
(A) Rajan and Sajan are twins.
(B) The sky was extremely beautiful this morning.
(C) Sheila ran down the stairs to open the door.
(D) Sorry, I didn’t notice you there.
101. Which of the given options best combines the sentences into one?

Ruby can read.

Ruby cannot write.
(A) Ruby can read but cannot write.
(B) Ruby can read and cannot write.
(C) Ruby can either read neither write.

(D) Ruby can read cannot write.
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102. The underlined word belongs to which part of speech?

Unless you book the ticket, you are not allowed to board the train.
(A) Interjection (B) Conjunction

(C) Preposition (D) Pronoun

103. Identify the correct pair of synonyms :
(A) Divulge : Conceal (B) Expose : Reveal

(C) Precarious : Cautious (D) Industrious : Reserved

104. Identify the pair which is not synonymous :
(A) Recover : Return (B) Legitimate : Rightful
(C) Condone : Forgive (D) Deceive : Mislead

105. What would be an antonym for the underlined word?

The orchestra played to a packed house.
(A) Crammed (B) Crowded
(C) Deserted (D) Single

106. Identify the correct word to fill in the blank :

The earth revolves around the Sun, it is not
(A) dynamic (B) portable
(C) stationery (D) stationary

107. In the learner-centered methods of teaching (like role-play)
(A) the teacher generally does not stand in front of the class
(B) the teacher has to stand in front of the class
(C) the teacher makes sure all the students are looking towards the front

(D) the students usually attend class from home
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108.

As a part of language pedagogy, teaching of grammar aims at improving
(A) literacy (B) fluency

(C) accuracy (D) observation

109.

Which of the following skills is the first to be acquired by a child?
(A) Speaking (B) Listening
(C) Writing (D) Reading

110.

Identify the remedial technique of teaching English from the following :
(A) Group instructions (B) Written instructions

(C) Multisensory teaching (D) Oral teaching

111.

Which of the following is usually the first step towards writing skills?
(A) Sentence formation (B) Standing in queue

(C) Word formation (D) Drawing

112.

Which of the following is not considered a basic skill of language learning?
(A) Arithmetic (B) Reading
(C) Writing (D) Speaking

113.

If the autonomy of the learner is not respected

(A) the teacher will not be eligible for promotion

(B) the students won’t get promotion to higher class
(C) language teaching is not much affected

(D) teaching-learning environment in school will suffer

114.

While learning, the child’s basic skills are developed
(A) in linear or isolated processes

(B) not in linear or isolated processes

(C) in linear but not in isolated processes

(D) not in linear but in isolated processes
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115.

Which of the following is not an objective of language teaching-learning process in
India?

(A) Know the history and development of languages
(B) Effortless expression and delivery

(C) Ability to read with comprehension

(D) Ability to write coherently

116.

Teaching English grammar by usage rather than rules is termed as
(A) correlation method (B) deductive method

(C) inductive method (D) informal method

117.

Which part of the following sentence has error?

People facing hunger and poor nutrition are declining in the country since
last decade.

(A) People facing hunger and (B) poor nutrition are declining

(C) in the country since last decade (D) No error

118.

Identify the part of speech of the underlined word :

He screamed loudly when he hit his thumb while hammering the nail.
(A) Noun (B) Verb
(C) Adverb (D) Adjective

119.

The verb form of the word ‘soft’ is
(A) soften (B) softest
(C) softer (D) softly

120.

We hardly noticed her.

In the above sentence, if the underlined word is changed to adjective form without
changing the meaning of the sentence, we get

(A) We hardly notified her. (B) She was noticeably heard.
(C) She notices everything. (D) She was hardly noticeable.
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PART—V : Language—I (Optional)

TRFI ;@ X ORISR, e, 00, 29, TE, IR S SEoREve 1qE—afehl SR 30510F
o BICE | AR W@ g € OMR Se9-7[@d SRI-Ie SEY 41 oS oHFesd Ted i
wifa |

TR 2 @3 SR SRI-1-9 ISP, AREN, qcwl, 7, qF, I R SeoreEte 3ae—afe’ erm 301
FCE P R | 2R @ 2l 998 OMR Ted-910ad SR-1-(8 Tead 31 SRR 2 afig Teg fice
el

AT AT 2 iy s qa-1 7 swnfEn, aren, s, &=, AR, #ifd S stieeiey siS—SaigsTE
TAAE 919 30 iy amma | STEwR foqrEmn e 3 OMR e el 1a-1 ae we' @ e e
B |

TEaqul : 39 9 o 9-1 & o fou T foekeui # sfien, swen, dvern, fi, AR, @i 3R stcerfew
FUSHI—uces aor # 30 ue @ | qhenfieti 3 emeed-ua 3t OMR -1 8§ wiwi-1 7 S wion =1 3g@
foran 2, 3ot It Ao T I S R

Important : This Part contains 30 questions each in Language-I, for which the options are
Assamese, Bengali, Bodo, Hindi, Hmar, Karbi and Alternative English. Candidates should
answer the questions for only that Language-I option which they have given in their Application
Form and recorded in the OMR Answer-Sheet.

( ASSAMESE )

121. ‘Regh 3@ @@ s s 250 41 i [RFR 2 9 (2"
INERET G (B) o
(C) IS STIGRT (D) % =¥

122. fafrfie @ @R 7@ spi o smefis taoe et s ar 2
(A) ot ol (B) @ i
(©) =Bt farft (D) “ors forf

123. A Study of Kamrupi: A Dialect of Assamese 2%< SR RET)

(A) =qw e (B) TTmPA{ w8
(C) (ANCETDT (oI (D) TCormnel (o

124. e =wr-welq ooz rem IO 20z
(A) SRY : sifeRiere (B) FoRMA : MM
(C) Tz : s (D) (o= @ 740
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125. fEfEe == goomze [e[re *wg 36 bire w1 |
A) A T (B) 5] : “[PBTSy
(C) Gl : oIl (D) = : T
126. e oz i FHeo! =i w1 |
(A) ATEARE : SeIIeTS (B) =7y : r&ief
(C) = : cafems (D) el : ST
127. €51 7S 2P FN—IQ (P ¥ 12 |
A) Tz (B) &N
C) EFF (D) o
128. <& 912 77 1 :
_ TiteE e e S99 i |
() @EE (B) ey
(C) e (D) T

129.

ffie @ FR @ PR FAT AT 2
(A)  oTCem sigel (B) TSIm &I
(C) o™ vz T (D) =PFreTr (Bt

130. ‘NS IR FIEA TAVIT AR @S RO Ay SFICTT 61 S FiMRET 2
(A) CRm [<ge] Tifer (B) TRII® Il
(C) TH2PI *BIR (D) PR 3
131. AT Ref{he foram@mns bl (2
(A) STEET (B) 20wl
(C) wemE (D) carmt
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132. 95l *Rre 2/PM FI—AF 7HET I IO SR |
(A) e (B) 7=
(C) wI=[ (D) wifo=1q

133. e Respnza «[1 7o) FRA fEane Rem@ Fo0! 5o 341 |
(A) (B) “glq

EN

(C) *ffoa (D) =%

134. % SIel : 7
(A) WHET + 7 (B) WRI + S
(C) W + & (D) %R + S

135. SRR M qfe Sfere :

COINICETRRS ~[F (@fear =g 27927
(A)  CONICETR (B) “I_r
(C) cfe (D) <8

136. e MO0 Dere 4 |
(A) SfoRpl%en FeIe : Q=B (B) (SR : Fforeel
(C) SIFCAR : 7S (D) S8 (T : (TE7[q

137. e wiwnza qifee @i af @ 2
(VN (B) =
(€ ¥ (D) ©

138. NP (F@o RCAE A 1 IR TS Do =19 90w 27 (S¢ AWF (@ =
(A) ZF (B) Qs
(C) ToRIm (D) PR
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139

2EFI€T 7[{] ol IRF 2RO Y47 ¢ I FICARIT 3] RCIe (Pl 2
(A) &Rl (B) M
(C) TR (D) Fefemfa

140. & el : Srgm
A) =fS + @@ (B) =% + 3w
(C) SIS + Tny (D) ®1® + Tny
141. Fres 20 el Jreice [eG @ T8 Breet 275
(A) PP G5l G5ICF THRE FRE o[ el
(B) PR To© M 791 vl
(C) TFPIES TR e W THRE FA 7[1 TE]
(D) T SR S FIE o[ Tl
142. o K fose SR chae o=y e 9 @ 7 w72 ?
(A) IR S ST (B) e oz 92
(C) =res 9T ferzel (D) SifeeRes S
143. R PR APRFe * [Fofeq b @6 2 (S TF @l 2
(A) == (B) SR AT
(C) fagomm (D) =32 P
144. FEFICTRA (@A SICRE S 72T ?
(A) lferRm (B) <fE q999
(C) e (D) cleTcsneie
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145. Linguistic Survey of India &%4« RS @MIRISH FS 2
(A) T AT (B) & SERT NI
(C) @=IE@s % b FITE (D) = fFeaid

146. RS q7e Seel *«if6 e 41 :
“TI-TISIRIPTRCE o TP TN HRICS F-Fl (5 D ez 17

(A)  TI-TreIE (B) f=ce
(C) -1 (D) STP7l

147. ‘fex’ e [ A7 e AT Giee TR SRR (20”
(A) @IS ST (B) SHFAR ST
(C) cemifoem SeareT (D) fReerim rel

148. 2R PRI SIS (7 2Dl TGeRes Ee SRSE Jj2F o Faie @weRid aie

& A9 MR 2
(A)  SETEE (B) c=¥ Fel
(C) f2Ccaw Bk (D) G Fiel

149. ‘SN ©FF o2’ Jwiwq RSl (207
(A) NPT FIF(S (B) ISP BCEIMR
(C) =PRI (e (D) To I AIF

150. ‘F7IRE IFAF &’ AN % (ANefere TCatie Tioiae AFERC TR 91 @Ol 5i9g (202
(A) 2T e (B) IR 3541
(C) fro ATy (D) 2w cefe
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( BENGALI )

121. ‘2-3-3-3-9 2% FF qfve ?
(A)  TCTmRCIR AR (B) w1 Ip
(C) wTepe] AN (D) FNE R
122. 545" [AWPTISER O30 IT SRW 261
(A) TOMIZ 22 el (B) Redl Ramces e
(C) 3G PrF 2bete (D) FFERLCHS ATST
123. PN STOR GG (SHIfOZ™TT SA6RSAE 0T Sl 2
A) PR (B) CGN=AFR
(C) Tfzemal (D) FACPRR
124. SGE T > A ST T eE a8y 2
(A) <@ (B) ==l
(C) =M (D) =N
125. 0T SCOIPNIEE &l (RINR 2R 2

(A) FERPTOR (TP

(B) < (TS DR &Ny

(C) ~IFoCor B “Ralell (ST PIIAATTR
(D) = (SETR PRS2

126.

FIE! Toa DN 0 A%’ 22 FF T IR 2
(A) 3fEIOT SCBIAGR (B) Frm= I
(C) Srevm RmgpTieR (D) FNE R
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127. ‘@I IR S CICT [ B — A0’ *=ifbee (i [efe Io 2 ?

(A) fasr Refe (B) A2 RKefe
(C) = Refe (D) 39! fefe

128. &9 “[F F0H 08 F 7@ 91 22

(a) frefe (B) @R
(C) P (D) SRR

129. &R M F73¢ A1 TgIRced e 2ee1 St g 32 =32
(A) FPI=h (B) TgGepI=n
(C) famefifan (D) feirec o

130. PEcwr *=ifod A [owmw 26
(A) e + (= (B) fRicais + caw
(C) =z + caw (D) 19 + =

131. I “IfF5x’ F2f0 FF A 2
(A) SrEvw [meTeE (B) FAm=IL I
(C) wTe=pe] BN (D) IHTEZ BCBIAIR

132. Y2 {1 YRR SES A0 G AT REACT F ¢ 2
(A) i (B) SRR

(C) = (D) P
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133. I A1 1 I SRS SRER e GTAE 392 FAce (@i ©F 0 92 I 27 2
(A)  jefoorw 1 wifS (B) T&fe oz
(C) TECRN Al (FET (D) = fo=

134. SRR A ol 5
(A) T/t o= (B) ffre zew
(C) T Fgel (D) T2 SCAwe

135. Sferel *=7fog ANLF *137 291

() = (B) =@
©) ®= (D) =

136. TWF *@(bd {71 [Te *% 29
(A) R (B) T=eR
c) I« (D) e

137. R G3R BF €3 AR *=7 qioq =2f 261 I
(A) T @R H (B) e @ #J

(C) % @R =S (D) @& @R AF

138. 351 *@(b (I felcor Turesel 2
() Ffors? (B) #fer
(C) =pfor (D) Tefere
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139. N5 qEIcere, ST Il e Terye $9¢d 17 @3 qitee i OfE I9me 26 2
(A4) zerF Tfe (B) “I@r®

(C) oo @ 7[tarF Tf e (D) MR Tf&

140. fe7<e Tl e FCS 20T A (P 7S Fqergl o1 Tfoe 2
(A) TI-RAF TS 2 NS 3@ (B) T@-2las Fiel ferdce fice 2ca
(C) IH-AHCIR ¢ AL T Wee 2@ (D) Gplb WS swrizee wreferfsl frce 2ca

141. 3 W OF 9 8 OF @R[ Al @ wFeE @R 2
(A) forem (B) =&

(C) X (D) 2

142, ‘Sennfe’ =M &Fe TR Twzae 2
A) &% (B) w2
(C) wAeR (D) FaE™

143. (STOZPTM SORSIEE AT Wl T 22 SRR Satoead < F 2
(A) ‘oS (B) ‘T
(C) “SmRTe (D) “SCaRTS!

144, PRI Tl FEFmcTs ¢Fed S @8 B A0 2
(A) afocs (B) fwem “Hws
(C) 2ot (D) Pres
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145. (P ORI (AP I SE TefE 2R ?

(A) nfer (B) 3 2y

(C) IS 2mogt (D) TR ziige
146. FH IR A>S TRFIRGE SoRIPT @D 2

(A)  “comar (B) ‘coles ifer’

(C) ‘TeF-mRcT’ (D) ‘ceEs Sfer
147. A0 (P L TSR] 2

(A) W #Pwaer (B) Tewae

(C) T “IFoxe (D) wfpel o<t
148. ‘JC% MO oI ARIAGTS (@ SATICT ST ?

(A) ‘o3 e’ (B) “STeTwwo’

(C) ‘qEPRS’ (D) “Sre=’
149. J(& Tewrel DA “RemEl’ IR R (&I FRLE SEofe 2

(A) SRR (B) SRl

(C) ‘gz T (D) R’
150. AT PR “Aoigher’ 256 Fo 46w Abe 2l 2

(A) 5553 (B) Ssov

(C) s»s0 (D) $55©
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121.

( BODO )
Torm TEslt Aiciong A SR TERE de gieET W67
(A) AT e (B) T UHRM AAHSTR SIRTHETE F%TE 2t
(C) TUBRM SN M WiHRE! Sal 2= (D) oTel fSHT g

122.

TSR Aedieng @i 2020 (NEP 2020)31 fown 1@ g g8 5—
(A) o TaEt wrEETfeETE BT 1St

(B) foram Tt 2] TR o W

(C) SFa g/, BRI fosiiet SEAf araifem fom wa'sit sm

(D) BRI fostien ' ametfim sust TR fom vast SremeAr

123. ol | SHHT—
(A) g& 9 ™ @ (B) TEEH @
() fo=aErit = (D) GREMH &
124, S0 YA ATREM ffafm steefien arae?
(A) ST SET (B) ST 9§ EHISK
(C) TH <8 SGHTATR (D) A FHAR &
125. TEEH e HHET TE§T—
(A) M+ =12 (B) @ + &8 = WA
(C) 37 + 3§ = e (D) T + @I = Tl
126. ‘@ ot sm @l gl
(A) TaEr foreerat (B) =¥@ smfy foramat
(C) StEen fomet (D) SiEen fawn
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127. 9RE 9EE —
(A) = &R (B) & TEd
(C) T ™ (D) ST T\
128. U9 SN TEE A% STeak—
(A) WA, T, e, g
(B) @HTEAM, foaem™, e, g
(C) EHTEAT, ARG, T, BT
(D) TREA™, I, B, A=
129. ‘Gumr e °1?
INEEISIECIRIE (B) T 3=
(C) SR S 37 (D) 3T S 3T
130. s EAE HiHEE T g AW Wi grEl &7
(A) 11 W 31 (B) 11 3 41
(C) 12 3T 41 (D) 12 3 31
131. TN SH™ A 3T MRl @l STR—
(A) T BT S (B) |
(C) WHTEAES (D) formsi

132.

‘TRefiee’ s BEESE ™ e ?

(A) 1970 HEATEAE

(C) 1972 HETEAE

(B) 1971 HETEdE

(D) 1973 HEATEAE
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133. ‘@ T A were fesmaf forfifen ww?
(A) =R T (B) TS AR
(C) M === AR IEEESICEE
134. IeE g TEsTEE! 9R R ?
(A) HTAR B A (B) S FhR AT
(C) g =i (D) icTerad s&t
135. ‘OTd Gt UaT iR 4 o a@r?
(A) HREATSTE STHE (B) TENRAN W™
(C) HRETSTE STTaf (D) TEfRAT 7
136. SITHT G YT BIETT—
(A) HTETE THAM! TS
(B) TS THATIT
(C) TITEREYE ST
(D) HIFY YT ST STTeel TR I
137. SR wEETeEre s (MIL)ET, Hisel Jie- S e HE—
(A) 1971 (B) 1976
(C) 1977 (D) 1975
138. U ciem () weu—
(a) " ®)°
© f (D) ¥
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139.

FUHRA TS Afee STRIQH! T TS TSR |X?
(A) ®FY & (B) w1 = SgHTARI
(C) =Ry g A (D) feacfter s

140.

T R A WAE SAE - @ ST
(A) e (B) e TE
(C) 3=t ™ (D) TEUR &

141. 9RE fog TRA™ W Grems—
(A) TeraTafT frm T (B) @@ fawE @Hm
(C) T ST TSt (D) =g frm @
142. TEREH F= TaErfai aErn 121t
A) fEmrta (B) TEaHey
(C) Tty (D) =T ey
143. TEEE B & T AT =i -fassari werf=?
(A) R (B) S|
(C) femman (D) W3ds
144. TEEN &1 ATASTE EEl?
A) 3 B) 2
(C) = (D) |
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145. U 9 GiHc a1 o9 HEAEATE TEEH STETHA 7
(A) 1918 (B) 1818

(C) 1819 (D) 1919

146. ‘foam’'f fifs gyfifen aram?
(A) eTraa S& (B) fereuy <ot s
(C) i =g sgHTar (D) WERM™ el

147. ‘fom sigar’ g gAwEAEE 9R formE?
(A) TH'T == & (B) iethmet e
(C) BRZ 1 SHTARY (D) ferep =ror e

148. TEREE THM &e SR YH—
(A) w=eft fog : soe =g W (B) =it forg : wwmer s
(C) weft o : werm & (D) weft foq : feerva 3@

149. A Collection of Kochari Folktales and Rhymes foeerat AreetT, R AW AT g

fagma?
(A) 1894, 3. fs. TerwA, aFTeT (B) 1895, V. ©w. UTEwHA, _MTel
(C) 1895, . fs. T=erEH, WA (D) 1894, 5. ©. umewEH, WH

150. TR Jd FEIT S T YT B AS17
(A) WH™ T (B) T3 fae

(C) T ST (D) T snf=r
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( HINDI )

121. AR g Tt =i fofd a1 W A STseHt guenr e e o
(A) TR Y e (B) HEH{d % TR 1A
(C) THX (D) &R
122, SR TETE Sl T TR R
(A) SR (B) g
(C) ==TH (D) I
123. ‘T R e 39 fohe i 1 e 27
(A) THRE B (B) STcTehsoT ST
(C) TREaTa aqaal (D) ToRmmeR g
124. “forega A9 1 FIE DT
o 9 et 7w ',
3} HIeA-UTehal TorE whid /emarel 6t 87
(A) GUSTHAR FEH (B) ST THTG
(C) FFera Bt “Forem’ (D) weTedt aHt
125. it IH== g =4 309 ¢
A) Trden (B) Temreran
(C) I (D) feaeft
126. SRR TG I LA e G o179
(A) 1935 3o (B) 1937 %o
(C) 1939 3o (D) 1940 3o
127. “Yfd % GHUR Hfa 6 A IW 2
(A) BERE T (B) THTIHTE JFA TR
(C) =< = (D) FERATH AT
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128. 3TE Gl H =TI HINT

(A) @AT + TF = qYq (B) q: + U4 = 31dd

(C) zfa + 3nfe = gt (D) 39 + T = a5
129. ‘TER ee #1 weEl afy-foess 2

(A) dg + SATHR (B) &l + 3THK

(C) aq + 3R (D) @eT: + HR
130. ‘Fradifed’ THEd-ue 1 wel faug = 27

(A) 31T | difea (B) 31hTal o fotu difed

(C) 31t ot fifea (D) 31T R fifea
131. IS hl YA :

(A) et 2 S = Hem (FHuR 9ue)

(B) dd & smer et 3 = famer (agsfife wwm)

(C) TR & ITIAR = JAIR (AcIET THH)

(D) T 3R U = IR (575 99T)
132. I ves-Sig il UgaH i :

INEEEIEEE (B) FrEI@-an

(C) TE-det (D) drar-#r
133. T aga=a #1 Te_-eT HH-91 27

(A) wHeg-Tfrdma (B) WTOT-g31

(C) 2AtE-drg (D) SeT-drdn
134. ‘‘F9 =R forae @it g0 9 0 TRae ug fohe R | 77

(A) =¥ HH (B) hdl S

(C) =T FH (D) 3Tfershor i
135. TR T GErR 1 T e 1o # g 27

(A) HHME SHMT (B) faame e

(C) TS fHuer (D) =R AT
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136. ‘3@ & 39 T3 F R’ ARIRE H AW T :
(A) Hae TR TeI= (B) T % foodia am &
(C) 1ot gUg T <t (D) H@ gaH
137. facmredar i g8 ¥ TG -1 1 = HIfIT
(A) @g-T% (B) @fd-31ca
(C) AER-fo=mR (D) wER-Tet

138.

‘1’ % qHTIETE vee % Eee § Teld IS B

139.

(A) dTEH (B) afg
(C) Frg (D) et
‘s’ o gamef 3ree i =TT

(A) i (B) T
(C) A (D) 3T

140.

T @ o fafay s o ged # ITE ad-aTen e BhiH-41 87
(A) &= (B) @&
(C) == (D) #gqsh

141.

et 9T o w9 H Rt o o e e wie g 8, i
(A) Fareeff < argaTn & 92 wate e A
g
(B) fotemeff & offx 3@ wmn = ufdq reRsor
I T &l
(C) 3T WNT & YgHdT el FEamEre Tl
Erd
(D) 39 99T 1 UM T Tl ATy el
ikl

142.

1tk et =t 21ef B fereft s &6 /=0t

(A) TEIE AT AT (B) AL AT T T A
(D) o, 9§ 3R forg um™ <t e

(C) ug R for@ um &t =
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143. & v % Igwa & gl °§ a9t faa-m 2
(A) E&Fd > U1 > WThd > 0¥ > fedl  (B) W&pd > Whd > WA > 399w > el
(C) ¥&Ra > 3TUYW > UIfed > Uha > fedl (D) TEhd > U1 > UYL > UThd > Tedl

144. & wmwr & fowm@ & dedl o sHe UeahTed Fa-H-hel doh AT ST 87
(A) 1550 30-1700 3o (B) 1600 30-1850 3o
(C) 1500 30-1875 3o (D) 1500 %0-1800 3o

145. fedt shi SuwTisti shi 9 T ¢
(a) = (B) di=
(C) o= (D) =X

146. ot &t o staia et st -4t 27

(A) HaTdt (B) W

(C) woredt (D) eyl
147. & i dich s o &9 487 2 -

(A) &S (B) SATEETE

(C) TR (D) |

148. it Im=s f1 FerEr & T ford A | yeRfE 87
(A) ITTHREY (B) TeuHsl
(C) HHER (D) SFEr

149. wered aaf forg am Y wafeh &7
(&) srfereTt (B) TEwFETEl
(C) JATETE (D) TFRAmETE

150. Gim=a 9=d &1 50 ford I ¥ gam on?
(A) FrErt (B) <&l
(C) SreTagy (D) Towma
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( HMAR )

121. Hlaphuoktu in Van miril bungdawntuoi’ tia a ko chu :
(A) Vana vantirko hai an nih (B) Kanna rama mi ropui hai a nih

(C) Gabriel a nih (D) Lal Isu a nih

122. Non-renewable Resources umzie chu :
(A) A hmun hluo nawk ding um lo (B) Siemthar thei
(C) Resources chi khat (D) Thing chikhat

123. Lalruong piengna khuo chu :
(A) Tinsuong (B) Senvawn

(C) Pherzawl (D) Tuolbung

124. ‘Nelvai sangsari hmana, Ruol el lo’ ti umzie chu :
(A) Mi tam takin an thaw theinaw (B) Vairuol tam tak an hung

(C) Mipui tam tak inkhawm (D) Vana arasi tam tak hai

125. “Zo tlang sangah va chuong inla,
Singmit lenin thlir vel inla” hi hla phuoktu chu :

(A) L. Keivom (B) Pastor Lienrum

(C) Laltlansang (D) Lalhmingthang

126. Hmar haiin Holy Bible ei nei kum chu :
(A) 1960 (B) 1968
(C) 1970 (D) 1966

127. “Nghil naw la hnam lungmawl ram inthim khi,
Par kar nghakhla’n thutin an sir” ti hla phuoktu chu :

(A) Thattinlien (B) Dr. Thanglung
(C) T. Khuma (D) H. Thiek
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128. “Kan tlangram hi par tinreng an vulna, A va mawi ngei dar ang kan lengna” ti hla
phuoktu chu :

(A) Lalbieklien (B) Lalsanglien Zote
(C) T. Khuma (D) Laltlansang

129. Tiena phunchawng, kur duomduom rawh, nu’ ti hla phuoktu chu :
(A) V. T. Kappu (B) T. Khuma
(C) Buonglienkung (D) Pastor Thangngur

130. Andik tak thlangsuok rawh :
(A) Ruozika inthawkin vate a tla thla
(B) Ruo zika inthawkin vate a thla tla
(C) Ruozika in thawk in vate a tla thla

(D) Ruozika inthawkin va te a thla tla

131. A ziek dan indik tak thlang rawh :
(A) Achangdan chu a va muong deh aw
(B) A chang dan chu a va muong deh aw
(C) A chang dan chu a va mung deh aw

(D) A changdanchu a va muong deh aw

132. ‘Puisai langpat ang kan sai €’ umzie chu :
(A) Sai kan kap hlak (B) A pu Sai hai ang a nih

(C) Pasal neilo lengtul (D) Lo lam, lo fena lampui

133. ‘Chalhrék inhrawk e’ umzie chu :
(A) A ki a va tha deh (B) A ropui de
(C) A chal tling a nih (D) Mi nunsie tak a nih
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134. A iengtak hi'm a ziek dan andik tak a?
(A) Pasaltha haiin thlavar hnuoiah thlan an cho a an thlan a suok
(B) Pasaltha haiin tlavar hnuiah tlan an cho a an tlan a suk
(C) Pasaltha haiin tlavar hnuoi ah tlan an cho a an thlan a suk

(D) Pasaltha haiin thlavar hnui a thlan an cho a an thlan a suk

135. ‘Mi le nél lo tama e, Hriemi hraiah’ ti umzie chu :
(A) Mi nel lo ding a nih
(B) Mi tam tak an lo uma nel an um naw khawp el
(C) Midang khawm an lo tam ve ngei

(D) Mi haiin hrei an chawi

136. Khaw Sinlungah kawt siel ang, Ka zuong suok a’ ti umzie chu :
(A) Sinlung a inthawkin siel angin kan chawm suok a
(B) Sinlung a inthawkin siel an hung suok
(C) Sinlung ah siel tam tak an inchawm suok

(D) Khuo Sinlung hi siel tamna khuo a nih

137. Andik tak thlangsuok rawh :
(A) Buhak va la rawh (B) Bu hak va la rawh
(C) Buhak vala rawh (D) Buhak va larawh

138. A khawtak hi'm a thumal/hawrawp ziek dan andik a?
(A) Kham palei (B) Kham pa lei
(C) Khampalei (D) Khampa lei

139. A iengtak hi'm an dik nawh a?
(A) Oui oui (B) Thuo thuo

(C) Suou suou (D) Duoi duoi
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140. Assam sawrkarin Hmar tawng M. V. School a inchuk a phal kum chu :
(A) 1968 (B) 1965

(C) 1970 (D) 1979

141. Andiknaw tak thlangsuok rawh :
(A) Uirenu (B) Hunvawng tu

(C) Naudawmtu (D) Tlangsamtu

142. Andik tak thlangsuok rawh :
(A) Chuong chun vungna chu a vuong tah a
(B) Chung chun vuongna chu a vung tah a
(C) Chuong chun vuongna chu a vuong tah a

(D) Chung chun vungna chu a vung tah a

143. Andik tak thlangsuok rawh :
(A) Remi chun, “inranhai chu an tha khawp el,” Lali kuomah a tih
(B) Remi chun, “In ranhai chu an tha khawp el,” Lali kuomah a tih
(C) Remi chun, “inranhaichu an tha khawp el,” Lali kuomah a tih

(D) Remi chun, “in ran hai chu an tha khaw pel,” Lali kuomah a tih

144. Andiknaw tak thlangsuok rawh :
(A) Lei dar ka tah a nih
(B) Arbawm ka tah a nih
(C) Lekha ka ziek a nih

(D) Siemi chu naupang thuawi thei tak a nih
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145.

Rawsem umzie chu :
(A) Ruo thei (B)

(C) Raw no (D)

Mutrik chi khat

Thing chi khat

146.

Hmar Literature Society indin kum chu :
(A) 1945 (B)

(C) 1941 (D)

1940

1946

147.

Kelsai thi umzie chu :
(A) Kel hming chi khat (B)

(C) Khuoihnang (D)

Thi chi khat

Tukrawp

148.

‘Sawrtui rakam Neilal hai, Bu ang ngai’ ti
(A) Sawrtui rakam Neilal in bu a sawp

(B) Sawrtuia Neilal kha ngai a um

umzie chu :

(C) Sawrtui rakam Neilal hai insung kan thlakhla

(D) Sawrtui rakam Neilal in bu a suong

149. ‘Hnienghnar’ ti umzie chu :
(A) Khawsathei (B) Tui hnar
(C) Thil inhnieng (D) Pasie
150. Sakei huoiin a keisuok chu :
(A) Sai (B) Sakhi
(C) Rama sa hai (D) Pasaltha
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( KARBI )

121. “Lake voramkong ati,
Osomar ne chongthuji
Osomar nangtum chori
Okpri-okpru arani.”
‘Klim thuidung-thuidangji’ laso alunjir konat alunjir lo?

(A) Sabin alun (B) Thelu alun

(C) Bong-oi alun (D) Hanribong alun

122. Karbi Language Textbook ‘Tamhidi’ komat si ketok lo?
(A) Bonglong Terang (B) Bidorsing Kro
(C) Longkam Teron (D) Rongbong Terang

123. Ha-imu atemo along Ha-imu pen Long Teron Socheng kidun ahut kekap pon a
lank-roi amen kopulo?

(A) Umrasi aroi (B) Ambinong aroi
(C) Umtili aroi (D) Amreng aroi
124. “Ne hem thantu ejon do

Amen ki-ir Subongpo
Ajo hem keton thek-o
Kaike cheroktok ano

Lasi virve bi pen vo.”

‘Subong’ bangso ahirjir ketok abang komat lo?
(A) Gandhi Tokbi (B) Lunse Timung
(C) Bamonpo (D) Bidorsing Kro

125. ‘Meng ke table arum domjoi’ ladak dimthan kolo abang lo?
(A) Meng (B) Domjoi
(C) Arum (D) Table
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126.

‘Aning methan chokor rak’ pu kopi aphan si kipudam?
(A) Mathalet ahut aning keme (B) Kaita aning keme
(C) Kaita aning kithi (D) Ahut pen aning kithi

127.

Lammet kuru Sarpo Bonglong Terang arong binong konat lo?
(A) Hamren (B) Diphu
(C) Dilai (D) Dokmoka

128. Karbi aphurkimo along Rongpharpi Rongbe komat asopilo?
(A) Barithe asopi (B) Tirkim Recho asopi
(C) Sining Reco asopi (D) Borpu Recho asopi
129. ‘Sa rave o0so , meng ave phuju rengdok’ bangso a sarlamthe along la kave adim
lamthe joktha.
(A) lamdok (B) padok
(C) thek-lok (D) chehok
130. ‘Chiphong’ pu kopi aphan si kipu?
(A) Inglong (B) Rong
(C) Inglong arit (D) Mandu
131. “Apor dambom, kai dambom

Sopirbi adang arlo
Klem nangji ason do-o
Son suri lapen pharo.”

‘Apor pen Ardi’ bangso ahirji ketok komat lo?
(A) Jorsing Bey (B) Lunse Timung
(C) Bamonpo (D) Kehai Bey
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132. Achingkep chikdak hangser kopilo?
(A) Bapthili ke-ap (B) Hile ke-ap
(C) Cheng kithi (D) Kum kerot

133. “Kungri abang kekan thekser.” Ladak Sai ke kolo abang lo
(A) Kungri (B) Kekan
(C) Thekser (D) Abang

134. ‘Anphu dangklok chonghong un-e’ pu kopi aphan si kipu?
(A) Aning kithi (B) Kedamtong
(C) Ketangho (D) Aning keme

135. Semson sing Engti apo amen kopulo?
(A) Basa Kathar (B) John Engti Kathar
(C) Sarsin Engti (D) Thengkursing Engti

136. La aber koloso a ‘Longri’ arlo si ‘Chinthong asar lapen Ronhghang asar’ aman-peng
kachipi lo?
(A) Lumbajong a longri (B) Chinthong a longri
(C) Amri a longri (D) Ronghang a longri

137. Karbi akhei along Jir kedam’ along arpu kali ke kolo abanglo?
(A) Phankri (B) Klengsarpo
(C) Barika (D) Sodar

138. Lun ajir along ‘Mahun’ pu kopi aphan si kipu?
(A) Pithe (B) Inghun
(C) Longle (D) Lank

139. Non ke-en bom ingdeng phli along Karbi Language Textbook’ kolo abang lo?
(A) Lam Aklim (B) Lamchili

(C) Lammet kimi (D) Hunmili
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140. ‘Hanribong alun’ konat pen si keplang?
(A) Pinsing ahithi along (B) Mulong ahithi along

(C) Museng ahithi (D) Musai ahithi

141. ‘Khatvi atovar kepan’ komat anokbe akai ahut lo kedo?
(A) Waisong akai ahut
(B) Rongpharpi Rongbe ahut
(C) Thong Nokbe ahut

(D) Bikha Kangbura ahut

142. “Runme ting ahem lokbong,
Lahelo netum arong.”

Ladak ‘Runme’ pu kopi aphan si kipu?
(A) Hem aphan (B) Rit aphan

(C) Rong aphan (D) Town aphan

143. ‘Bang angru rupam kiti’ pu kopi aphan si kipu?
(A) Kaita kepaphi aphan
(B) Kaita kepaprang aphan
(C) Bang keklem ahut keklem dun
(D) Bang keklem ahut keklem dunde

144. Amri alongri arlo longri kethak thu kopipi lo?
(A) Nongpli pen Nongkeda
(B) Kiling pen Umchera
(C) Habepi pen Chongkhili

(D) Durong pen Nongkirla
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145.

La aber kolo abang si pinpomar adeng?
(A) Habe (B) Ronghang asar
(C) Chinthong asar (D) Lindok

146.

“Apok do aphek ave, angho do ade ave.” Kopilo?
(A) Hele (B) Hijap
(C) Tibuk (D) Bapthili

147.

‘Ai-upo achin’ pu kopi aphan si kipudam?
(A) Ingdukvok (B) Ning biri
(C) Ning theklong (D) Ingtangrak

148. Karbi aphurkimo along ‘Dalimet Kungri’ pu komat lo?
(A) Barithe asopi (B) Mukrang asopi
(C) Hemphu asopi (D) Bamonpo asopi
149. “Barla vang tanglo dei non
Sengpi mahun nangthur mon
Ruve nang kejang pobon
Bab-bi korme chelobong
Chingjok hur bolon do-ong.”
‘Barla’ bangso ahirji komat si ketok?
(A) Anima Terangpi (B) Ruplan Engtipi
(C) Phulmoti Teronpi (D) Mebel Terangpi
150. Lamtasam ateng pen Men son koan do?

(A) Son ni (B) Son pho
(C) Son throk (D) Sonthom
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( ALTERNATIVE ENGLISH )

121. Identify language function for the sentence :
Don’t pluck any flower from the garden.
(A) Sympathizing (B) Giving direction
(C) Ordering (D) Suggesting

122. Which of the following statements has the same meaning as the sentence given
below?
Ranju must have made that call.
(A) That call must had been made by Ranju.
(B) That call must have made by Ranju.
(C) That call must have being made by Ranju.
(D) That call must have been made by Ranju.

123. Identify the correct voice change of the following statement :
The Chairman informed us about the new project.
(A) We were informed about the new project by the Chairman.
(B) We are informed about the new project by the Chairman.
(C) We informed about the new project by the Chairman.
(D) We had been informed about the new project by the Chairman.

124. Which of the following would be the correct change for the following statement?
Rohan asked me, “How much have you paid for this shirt?”
(A) Rohan asked me how much I paid for that shirt.
(B) Rohan asked me how much I has paid for that shirt.
(C) Rohan asked me how much I had paid for that shirt.
(D) Rohan asked me how much I have paid for that shirt.

125. Fill in the blanks :

He explained all the concepts ______, hence giving him top grade was the ______
decision.

(A) correct, correctly (B) correctly, correct

(C) correct, correct (D) correctly, correctly
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126. (i) Pinky reads well for a five-year-old.
(ii) Every family collects water from the village well.
The word ‘well’ used in the above two sentences are
(A) Noun, Verb (B) Verb, Adverb
(C) Adverb, Adjective (D) Adverb, Noun

127. Identify a correct adjective clause for the following :
The cricket bat ____ is mine.
(A) which is a broken handle
(B) which has a broken handle
(C) and a broken handle
(D) with a broken handle

128. In the morning it’s best to get up early.

The underlined part of the sentence
(A) is a clause
(B) is a phrase
(C) There is no clause in the whole sentence

(D) is grammatically incorrect

129. Identify the conjunction in the following sentence :
This is the girl who sang the song yesterday.
(A) sang (B) girl
(C) who (D) the

130. Transform the given sentence into a complex sentence :
My ambition is to serve the country.
(A) My ambition is that I should serve my country.
(B) I serve my country is my great ambition.
(C) My ambition is that I shall serve my country.

(D) To serve my country is my ambition.
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131. Which type of sentence does often begin with a subject?
(A) Declarative (B) Interrogative

(C) Imperative (D) Exclamatory

132. What does the underlined portion mean in the following sentence?

I handed over my responsibilities lock, stock and barrel.

(A) Partially (B) Grudgingly

(C) Happily (D) Completely

133. Which of the following would best replace the underlined portion in the following
sentence?

Our solders remained firm in face of heavy fire from the enemies.
(A) Felt weak (B) Collected their wits
(C) Stood their ground (D) Ran helter-skelter

134. Change the degree of the sentence to the positive without changing its meaning :
Sheru is stronger than any other wrestler at the tournament.
(A) Sheru is the strongest wrestler at the tournament.
(B) No other wrestler is as strong as Sheru at the tournament.
(C) Strongest wrestler at the tournament is Sheru.

(D) At the tournament, Sheru is a strong wrestler.

135. For teaching in primary schools, learners in a multilingual classroom can interact

(A) in their own language and can learn usage of words from more than one
language

(B) in their own language but are allowed to use of words of other outside the
classroom in unsupervised manner

(C) in a language which the teacher is comfortable with

(D) only in the prescribed language as per Government’s Educational Policy
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136. During language teaching, structural approach gives focus on
(A) listening, reading, writing and presentation
(B) speaking, listening and presentation
(C) listening, speaking, reading and writing

(D) speaking, imitating, presentation and writing

137. The purpose of using a Rapid Reader in classroom is
(A) to develop storytelling ability
(B) to increase speed without loss of comprehension
(C) to increase speed of reading without comprehending

(D) to increase a student’s interest in books

138. Which of the following helps in decoding (phonemic awareness and phonics),
comprehension and fluency in learning a language?

(A) storytelling (B) presentation
(C) writing (D) vocabulary

139. “A type of writing in which the teacher provides the situation and helps the class to
prepare it, the teacher continuously provides feedback, direction and expansion of
ideas to the learners.” What is this paragraph talking about?

(A) Controlled writing (B) Free composition

(C) Guided writing (D) Free writing

140. In a classroom, the teacher asks the class to read a chapter thoroughly at least
twice. Then the class has to answer some questions with reference to the context.
This is a practical process to encourage students towards

(A) intensive reading (B) extensive reading

(C) skimming (D) scanning
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141. Which of the following is compromised in children if a teacher asks more of close-
ended question?

(A) Writing skill (B) Speaking skill

(C) Reading skill (D) Listening skill

142. A procedure in which a student is asked to supply words that have been removed
from a passage as a test of their ability to comprehend text is termed as

(A) comprehension test (B) analytical test

(C) reading ability test (D) cloze test

143. What was Vygotsky referring to when he defined it as “the role of teachers and
others in supporting the learner’s development and providing support structures to
get to that next stage or level”?

(A) Guided comprehension (B) Graded reading

(C) Scaffolding (D) Counselling

144. For a language class, while designing a working activity, the teacher should mostly
focus on

(A) picking up a paragraph from a good Encyclopedia
(B) choosing a topic from their surroundings
(C) referring to happenings in the near vicinity

(D) providing vocabulary support required for the task
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145.

Fill the correct form of tense in the following :

Has the dinner-menu yet?
(A) been deciding (B) been decided
(C) decided (D) be decided

146.

Fill in with the correct option :

How sugar do you want?
(A) kilogram (B) more
(C) much (D) quantity

147.

What would appropriately fit in?

Rahul’s nature is so unlike Ashim, just as
(A) cup and saucer (B) bread and butter

(C) mad as a hatter (D) chalk and cheese

148.

Identify the incorrect pair of singular and plural.
(A) Goose : Gooses (B) Rose : Roses
(C) Boy : Boys (D) Child : Children

149.

Which of the following collective nouns is incorrectly made?
(A) A pack of wolves (B) A deck of cards
(C) A pair of shoes (D) A herd of tigers

150.

Which of the following sentences has an abstract noun?
(A) Rabin carried his books in a bag.

(B) The glory of our soldiers is beyond comparison.

(C) Pritam ate cereals with milk.

(D) The cow was grazing in the meadows.
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